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You have 10 minutes to do this test. Work as quickly and accurately as you cap,

1. A football stadium has 75542 seats. 4201 seats were left empty during a Match
How many seats were filled? .

2. Bethany wants to know how long her desk is but she has lost her measuring tape
She lines some pens up across the length of the desk. '

She knows that each pen is 10 cm long.
Which of these is the length of Bethany’s desk? Circle the correct option.

A 70cm C 55cm E 45 cm
B 60 cm D 65 cm

Zola’s baby brother has a circular paddling pool.

3. Zola measures the diameter of the paddling pool. The diameter is 101 cm.

What is the radius of the paddling pool?
(LI Jem

4. The paddling pool holds 108 litres of water. Zola’s dad fills up the
paddling pool using a bucket. The bucket can hold 13 litres of water.
What is the minimum number of times that Zola’s dad will need to fill the
bucket so that he can completely fill the pool? Circle the correct option.

A 6 C 9 E 12
B 8 D 11

Test 1

N
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5. Aplan of an area of land owned by Appleton council is shown below.

Appleton council want to move the play area, P, YT 1. |
so that they can build a fountain in its place. 8:
The play area cannot be moved to the areas 61 ‘
occupied by the lake, café or woodland. i
Which of the following translations shows a 44 | café
possible new position of the play area? 1
Circle the correct option. 2: !

A 3 squares left and 2 squares up. <0 s

B 2 squares right and 4 squares down.

C 2 squares left and 1 square down.

D 3 squares left and 5 squares down.

E 1 square left and 2 squares up.

A balloon salesman has two different colours of string for tying to his balloons.
He has 121 m of blue string, which he cuts into 11 equal lengths.
He has 96 m of silver string, which he cuts into 8 equal lengths.

6. How much longer is each piece of silver string than each piece of blue string?

Give your answer in cm.

7. The salesman sells balloons with blue string for £2.00 each and balloops with 'silver
string for £3.00 each. He sells twice as many blue-string balloons as silver-string
balloons. He sells 30 balloons in total. How much money did the salesman make?

L T I 1)

8. There are 4550 people in a shopping centre.
!5 of the people are at least 50 years old.

How many people in the shopping centre are younger than 50 years old?
Circle the correct option.

A 910 C 2730 E 3590
B 4095 D 3640
© CGP — not to be photocopied 3 Test 1




Five teams take part in a football tournament. '
The points each team has at the end of the tournament are shown in the bar chq be

104

QW.

Y

Number of points

55 A B C D E

Team

9. What is the difference between the numbers of points won

by the teams in first and last places? D:]

10. The scoring system for the tournament is shown on the right. . =
Which of the following shows the results of Team E’s matches? | Points per game

Circle the correct option. win:  +3 points
draw: +1 point

lose: -2 points

]

won: 1, drew: 2, lost:

1
won: 2, drew: 2, lost: O
won: 0, drew: 2, lost: 2

1
1

won: 0, drew: 3, lost

Mmoo w >

won: 2, drew: 1, lost

Sabah gets £1.25 pocket money every week.
She then gets an extra 70 pence for every chore that she does.

11. Sabah does 6 chores. How much pocket money will she get?

L L)
L]

/12

12. The next week, Sabah gets £9.65.
How many chores did Sabah do during that week?

Test 1 4 © CGP — not to be photocopied



You have 10 minutes to do this test. Work as quickly and accurately as you can.

1.

N

4.

Niall uses the shapes below to help him remember his 4-digit passc ode.

Each digit is equal to the number of lines of symmetry in each shape.

What is Niall’s passcode?

Jansen records the number of birds that he sees each day for 5 days.
He saw 92 birds in total over the 5 days

Day 1 Day 2 Day 3 Day 4 Day 5
11 29

Frequency 13 22

How many birds did Jansen see on Day 4?¢

Jacob has made 110 cookies to sell at a bake sale.
He has made 30 toffee cookies. The rest are chocolate chip.
What fraction of the cookies are chocolate chip? Circle the correct option.

c 7/]] E ;()/]IU

A
B Ij/ﬂ D 3/] :

Sierra was 1.2 m tall. Since then, her height has increased by 10%.

How many centimetres tall is Sierra now?

Test 2

© CGP — not to be photocopied 5



The chart below shows the times th

B

6.

Michael is making cakes for a village fete.
Each cake is made from 3 sponge layers.
Each cake will be cut into 8 slices.

7.

8.

Test 2

at five different children were at the beach

Alicia [ : ’, _&
Kalinda [ ] |

Will [ B
Maia 7, o J

Eli | L N
‘ = ; ; . —>
11:00 12:00 13:00 14:00 15:00 16:00 17:00
Time

How much longer was Alicia at the beach than Will?

[ rouranal | Jn

Which child left the beach 90 minutes before Eli? Circle the correct option.

A Alicia Cc Wwill E Impossible to tell

B Kalinda D Maia

How many sponge layers does Michael need to bake so that
there are 152 slices of cake? Circle the correct option.

A 18 C 51 E 60
B 45 D 57

Michael sells each slice for £1.1 5. He sells 130 slices in total.

How much money does he make?
L L I

6 © CGP — not to be photocopied




Ali is dgsigr}ing 4 New nature area for her school.
Her design is made up of three regular-nonagon-shaped gardens.

not drawn accurately

10. The perimeter of the nature area will be 4140 cm.

What is the length of each side of the gardens? Circle the correct option

A 90 cm C 180 cm E 220 cm
B 100 cm D 200cm

9.  Whatis the size of angle a?

Ross makes a tower by stacking identical blue triangles.

11. The base of each triangle is 6 cm. The area of each triangle is 21 cm”.
What is the height of the tower? Circle the correct option.

A 12 cm

B 18 cm

C 21cm

D 24cm

E 28 cm -

6 cm

12. Ross adds rows to the tower so there are now 7 blue triangles at the tower’s base.
The total number of blue triangles in a tower can be found using the formula:

nln+ 1) =2
where » is the number of blue triangles at the base of the tower.
How many blue triangles has Ross used for the new tower?
/12
Test 2

© CGP — not to be photocopied 7



' ' . ~urately as vo :
You have 10 minutes to do this test. Work as quickly and accu y YOu can

1.

' he 5 dic
The spots on opposite faces of a dice add up to 7. Jed lines up the 5 dice belgw

e o ‘ e
® e e @ ®
What is the total of the spots on the opposite faces of the dice?
1Y

Karen is buying some fabric.

2

92}

Test 3

One type of fabric costs £4.80 per metre.

How much would 5 m of this fabric cost?
Ep i

Karen buys a different piece of fabric.
The piece of fabric is a rectangle 1.76 m wide and 9 m long.
What is the area of this piece of fabric? Circle the correct option.

A 0.1584 m? C 1.584 m? E 1584 m?
B 15.84 m-> D 158.4 m?>

Mac sells one raffle ticket each to 200 people.
16% of these won a prize in the raffle.
How many of these people didn’t win

A 32 B 68 C 84 D 168 E 184

a prize? Circle the correct option.

Selina is thinking of a number. She squares the number and adds 3,
to get 52. What number was Selina thinking of?
Circle the correct option.
A 3.5 B 7 C 8 D 14 E 16

8 © CGP — not to be photocopied



Rhiannon doe?s a 20-question arithmetic test each week for six weeks.
She gets 1 point for each correct answer.

The bar chart shows the number of points that she scores in the test each week.

20

i
164
124 |

Score

3 4 5 6
Test number

6. How many more points in total did Rhiannon score in the first two tests
than in the last two tests?

[

7. Rhiannon has lost her score for Test 3.
Her teacher says that Rhiannon’s mean score for the 6 tests is 12.
What score did Rhiannon get in Test 32 Circle the correct option.

A 6 C 7 E 9
B 8 D 11
8. The blanket on the right has been made - 160 cm e

from equally-sized blue and white patches.

What is the total area of the 20 white patches? 96 cm

© CGP — not to be photocopied 9 Test 3



~ full ¢
: y er boat less than a urn ¢
9. A captain turns the steering wheel of h and after the turn is shey, Oc Wige
The position of the steering wheel before ¢ Nin gy, o8

diagram below.

. ing whee|?
By how many degrees did the Captain turn the steering wheel|

s e e
her dad gave her double the amount of POCKE ¥ )r/n Mondag € day, &
How much pocket money did Phillipa get in total fro Y 10 Friday, ~or

£+
At Sally’s Sandwiches, the price of each sandwich is calculated using the fo”hula;

Price (£) = 1.25 + 0.5x + 0.3y + 0.2z Main Fillingg
) g o Ham Chicken Cheese
Where, x is the number of different main fillings,

Tofu
Salad Fillings

Lettuce Tomaio Cucumber Ave

¥ is number of salad fillings,

z is the number of sauces. Cady
Sauces

BBQ Mustard Mayonnaisa

11. Sabina buys a ham and cheese sandwich with tomato, cucumber and mayof‘nais

; e
How much does Sabina’s sandwich cost?
L JCg

12. David has £3.50. He wants a sandwich with chicken', cheese and BBQ sayce.
How many salad fillings can David afford to add to his sandwich?
Circle the correct option.

A 1 C 4 E 7

B 3 D 6 @

Test 3 10 © CGP — not to be phutocopied ‘
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Now for a break from 10-minute tests. Try out your skills on these puzzles.

rPenny’s Packing Problem

Oh no! Somebody has erased Penny’s plan
for fitting all of her parcels into her post van.

Help Penny by drawing a parcel around each
number in the grid. All the parcels are square

or rectangular and no two parcels can overlap.
There are no gaps between parcels.

The numbers tell you how many squares
each parcel covers. For example, a parcel

around the number 4 could be a square
or rectangle, e.g.:

= 4

A

Nanny Carol’s Cakes

© CGP — not to be photocopied

The Zop of Bill's cake and the top of Clive's cake have the same area.

Nanny Carol made a cake for each of her grandsons but she can’t remember
which cake is for which grandson. Use these clues to help her work it out.

Dave's cake's volume is the same as the volumes of two other cakes added together.
Adam'’s cake is 50% taller than Clive's cake. Ed's cake is the ove that's left.

11

Puzzles 1




46 qui nd accura
You have 10 minutes to do this test. Work as quickly a tely as yo,, C

airs for a show.

\ . e sxactly 60 ch X
1. Charlie needs to set out exactly 6 that he could do this,

Circle the option below that is not a way
A 3 rows of 20 chairs
B 6 rows of 10 chairs
C 7 rows of 9 chairs
D 12 rows of 5 chairs
E 15 rows of 4 chairs

p. The manager hires more peop|e

2. There are 54 people working at a sho »
3-

which increases the number of staff members by
How many people now work at the shop?

Acacia makes a model from 13 cubes.
Her model is shown on the right.

Which of the following shows the view from above
Acacia’s model? Circle the correct option.

AHF_ + B = CEE% DB?EB EBQ.%

The edge of each cube measures 2 cm. What is the total volume of the model?

4.
BEr

© CGP — not to be photocopied
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5. Elaine draws a plan of her kitchen on the coordinate grid below. Elaine wants Fhe
bin to be closer to the worktop, so she moves it 5 squares left and 3 squares up.

M |

g | Fﬁ?ge’

i ﬁ‘ﬁ'x_q

21““2 . Oven N
[ 1

00123456 7=x
What are the new coordinates of the bin?

6. Aurelia draws a van using two identical
circles, a triangle and two rectangles.
The widths of some of the shapes are
shown in the diagram.
Each rectangle has an area of 36 cm?.

What is the height of the van?
Circle the correct option.

A eI D 95cm
B 8 cm E 10 cm
C 8.5cm

In class 5E, pupils earn points for good work.
Every 5 points is worth 20p towards a book voucher.

7. Atthe end of the school year, Felicity has earned 235 points.
How much will her book voucher be worth?

EmEr

8. Tom’s good work earns him 240 points, but he loses 1/5 of his points for

poor behaviour. By how much will the value of Tom’s book voucher decrease?
Circle the correct option.

A £0.90 C £1.50 E £6.00
B £1.20 D £3.60

© CGP — not to be photocopied 13 Test 4



W
a total of 101 men and

omen. ‘
9.  Ata wedding, there is

There are 7 more women than men. —y wedding?
Which of the following is the number of men ¢
Circle the correct option.

A 44 C 47

B 46 D 52

E 54

10. Peter draws a scalene triangle.
The size of the angles in the triangle are s
What is the value of x?

hown on the right.

Camilla is practising playing darts.

The number of points scored when a dart lands in

each section is shown in the diagram on the right. )
She records the number of times that a dart lands in each section.

Section 2 4 6 8 10
Frequency | 31 19 15 12 7

11. In which section did Camilla score the most points in total?
Circle the correct option.

A 2 GG Ex o)
B 4 D 8

12. What is the mean number of times that a dart landed in each section?

(0§
(3

Test 4 S
14 © CGP — not to be photocopied



You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. Jasper is buying a new house. The price of the house is £349950.
What is the price of the house in words? Circle the correct option.
A Three hundred and ninety-four thousand, nine hundred and fifty pounds
B  Three hundred and forty-nine thousand and ninety-five pounds
C  Three million, four hundred and ninety thousand, nine hundred and
fifty pounds ,
D  Three hundred and forty-nine thousand, nine hundred and fifty pounds r
E  Thirty-four thousand, nine hundred and ninety-five pounds

2. Miriam has 11 bags of rubbish to take out to the bin.
She can carry a maximum of 3 bags at a time.
The distance between her house and the bin is 6.5 m.
What is the minimum distance that she will have to walk to
take all of the bags of rubbish to the bin and return to her house?

L m

3. Mason’s playlist has 550 songs on it. '
40% of the songs are rock songs, 50% are pop songs and the rest are hip hop songs.

How many songs on Mason’s playlist are hip hop songs¢ Circle the correct option.

A 55 C 105 E 165
B 65 D 155

4. Holly has a cube of cheese. _
She cuts the cube of cheese diagonally into two equal pieces.
A diagram of one of the pieces of cheese is shown on the right.

What is the volume of one piece of cheese?

97

© CGP — not to be photocopied 1




10. Marcel wins £4
He gives 359,
How much myq

80 _in 4 Competition. mo
of his winnings to 3 of his friends, who each get the same amount.
ney does Marce |

-~ I N t aAc . 5
Circle the correct option. Eive foisach of bis frlendst
AL 24B C f66 E £168
B £56 D 96
Danie

2o ro(i(collects >Ome ants and spiders from his garden on two diffe

Jrcli 1l rent days.
ds the number of ants and spiders collected each day in the chart below.
A
50
40 ‘
Frequency 30 = I:l Ants
4 — N — [ spiders
20 =
10+ }
0= 2
Day
11. What fraction of the ants collected over the 2 days were collected on day 12
Circle the correct option.
A 4/9 C 1/_7_ E 3/5
B D 24

12. To work out the total number of legs () of the ants and spiders collected on one
day, Daniel uses the formula 7 = 6a + 8s, where «a is the number of ants collected
and s is the number of spiders collected.
What was the total number of ant and spider legs on day 1¢
/712
Test 5
© CGP — not to be photocopied 17



Now for a break from 10-minute

~F

o~

Safe Rooms
194 + 2
—-12 + 27
119 + 7

11.86 + 11.14
32 4+ 42

12 + 56 — 34
39+ 3
11 x 12
253 - 137
108 = 9
32+ 2°
100 - 17

Haunied House s

T dt
Arthur is in a haunted house an C o _
He has a list of maths problems to help h'”g;:r;gtﬁ‘:a";’gxg rtOOrn
Each room contains a number. If this n(;lm S Q One of 4 o
maths problems, there are noO ghosts hiding :

Help Arthur find his way out

23

116

1715 130 5

tosts. Try out your skills on this PUzsq

-

here are ghosts hiding in some of

of the house without bumping into any g
OSts

i

13 77 25 22

124 4 4 Y17 3

97

Wa y out

Puzzles 2

—

not to be photocopie
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

Lina has a tray of ice cubes, as shown.

She drops one ice cube and splits the rest

equally between five glasses of lemonade.

How many ice cubes does she put in each glass? T

Mo is learning to ice-skate.
He skates around the perimeter of the rectangular rink shown below.

25 m

65 m
2. What distance will Mo have skated in one lap of the rink? e
‘ I I ] m
3.  What is the minimum number of laps that Mo will need to -
do to skate at least 2 km? [ 1 j
4. Mo starts skating at 12:56 and stops at 13:11, after skating 10 laps. How many

minutes does it take for Mo to skate each lap? Circle the correct answer.

A 0.5 B 1 C 1S5 D 2 E 2°5

= : C Test 6
© CGP — not to be photocopied 19




S ST L R & O

two practice tests g,
: . xani. They : res are shown in th On
Five friends are prepar;\nghfor ;;vz mprove d. Their 5€O e table 2}
apart, to see how much they of marks-
Both tests are out of the same number

K

o

—— " carf P D"
TAna | Bez _—— " 68
Test 1 o s 81 91
Test 2 ga_ | 63

over the two tests than
5 rson’s mean score?

een the two tests : '

. : betw <
6. Baz had the biggest increase 1n score

C nlage ot his scor 1S perce t v
:\J /r,

z : 6]
5. One person had a higher mean sC e
any of the other friends. What was this P

M .c I ffel‘ C >
 packet o crips usully coniaips 150 of erspe. A specialofer packet nas
‘40% extra free’. Cal buys five of these specia 79 each,

s i 10 note?
7. How much change will Cal get it she pays with a £
L O
S : 2
8. What is the total mass, in kg, ot crisps that Cal buys¢
L,
9. Cal wants to share the crisps equally between 25 people at a party.
What mass of crisps will each person get? Circle the correct answer.
A 24p C 35g E 4d2g
B 32g D 40g
Test 6 20 © CGP —

not to be ')h()l()(_,()pipd



Dev, Tina and Scott take part in a 10 km race
The graphs below show the progress made by. two of t

he three runners during the race.

10 A .
al ol B
Sicianse . B4 as ! o
run (km) 44 -
= '
50

0 : ;
0 10 20 30 40
Time (minutes)

10. The race began at 10:32. Circle the time that runner A overtook runner B.
E11:22

Cc 11:06 D 11:14

A . 10:52 B 10:56

nute without stopping. Tina took 22 minutes to
Scott took 4 minutes to run the final kilometre.

tly matches the graphs to the runners.

11. Dev ran 0.2 km every mi
reach the halfway point.
Circle the option that correc

A  AisDev, B is Tina
B AisTina B is Scott
Cc AisDevB is Scott
D AisTing B is Dev
E Ais Scott, BisTina

12. Molly is reducing the price of everything in her shop by 10%.
he following formulas should she use to calculate the

Which of t
reduced prices, &, from the full prices, F? Circle the correct option
A R=F-10 C R=F+10 E R=F-(F+10)
g R=F-0.1 D R=F-10F |
/12
© CGP — not to be photocopied 21
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You have 10 minute

ickly and accurately as yo,
an_

s to do this test.

‘three hundred and sixteen thousand and cight e
U

1. Ulrich gets a cheque for N
Write this amount in digits- £m :
. flicht leaves at 1 1:00 on Frida
2. Itis 17:00 on wednesday, and Lucy Sﬂf“%t‘? y.
How many hours are there until her THEME
I lh%rs
i flower bed, as shown below.
Daisy has a parallelogram—shaped ow /
3. Fencingissoldin1m rolls. How many rolls must Daisy
buy to go around the edge of the flower bed?
4.  What is the area of the flower bed? Give your answer in M
L.
5. Daisy plants 40 seeds in the flower bed. 32 of these grow into plants.

Test 7

What fraction grow into plants? Circle the correct answer.

3 v —~ v
A /4 B 4/3 C )/() D (_,/7 E //8

22 © CGP — not to be photocopieg



6.  Lisa wants to buy some antique tiles.
She is told they are 31/, inches wide.

what is the total width of a row of 16 of these tiles?
Circle the correct answer,

A 48 inches SIS o)
S accurately
B  48'/3 inches
C 48"/, inches ) 3% inches )
D 49 inches
E 50 inches

The cost of a week’s stay in a holiday cottage in Sunny Hamlet varies throughout the

year. This is shown on the line graph below. The average weekly hours of sunshine
each month is shown as a bar chart.

A A
500 50
ZX
400 0 Y [z \\
Costfor  3001— == T | 55 Weekly hours
aweek (£) ogq e of sunshine
1004 =
0
May Jun Jul Aug Sep 0
Month

7. What is the difference in price between a week in the cottage in the sunniest
month, and a week in the cottage in the least sunny month?

][]

8.  Steph wants to spend no more than £300 for a week in the cottage,
and wants as much sunshine as possible.

Circle the best month for Steph to book a stay in the cottage.

A May C July E  September
B June D August
© CGP — not to be photocopied P!
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- .
Prime numbers are used to make and crack Code‘ , together tO make a code.
Alan is looking for two prime numbers t0 multiply

n : nun\befs.
9. Circle the option below which shows tWO prlmeE 7 and 92
A 2and37 C 4and29
B 3and27 D 5and&

to multiply it by
10. Alan has picked 53 as one prime number, and wants

: t?
the largest prime below 53. What answer will he g€ m

r of limes, L.
Althea needs to buy a number of melons, M, and a numbe

Melons cost 90p each, and limes cost 30p each. o
Althea wants to spend exactly £3 on fruit, and uses the

to work out how many of each she can buy.

uation 90M + 30L = 3¢

2 Circle th
11. Which of the following combinations could Althea buys Circle the correct

A 1 melon and 9 limes
B 1 melon and 3 limes
C 3 melons and 1 lime
D 7 melonsand 1 lime

E 10 melons and no limes

12. Althea actually buys twice as many limes as melons.
How many pieces of fruit does she buy in total?

Test 7 24 © CGP — not to
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You have ' -
ve 10 minutes to do this test. Work as quickly and accurately as you can.

1. Damien' has the set of seven cards shown below.
From this set, he picks the one which has the highest square number written on it.
What number is written on Damien’s card?

ob
ol
5

7 Debbie needs to be at school by 08:50. She knows she takes an hour to get
ready for school, and 25 minutes to walk to school.

What time should she set her alarm clock for? q J ( I ]

3. Robbie is practising turns on a skateboard. N
He starts facing East (E) and does two 360° turns
clockwise, followed by one 90° turn anticlockwise.
Which direction is he now facing (N, E, W or 5)¢ W =

e

4. Olive has a 1 litre bottle of plant food. She feeds her plant

food each week. How many weeks will one bottle of pl using 25 ml of the plant

ant food last for?

L

Trct 0

©CGP — not to be photocopied
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iculator number buttons.
. . 1s ¢ca
5. Piotr has rubbed the paint off one of hi
€ presses the following buttons:
NEOEOE w
. .ing number? Circle the correct OPtioy
He gets the answer 220. What is the missing o . _
4 8
A B 3 C
6. Jen and Ben are writing sequences. .
: term.
Jen’s sequence starts at 1 and increases by 7bea7C o
Ben’s sequence starts at 100 and decreases bY B Renie
On which term number will Jen's sequence be larg
th i
7. Entrants in a maths contest have to take an entrance tef5t7- TE’E\E,Z Eflrrizndineg:etrl&to
teams of four, so that the team has a mean test score of 7. Fi e
contest, and get the following test scores:
Rachid: 10 Jaden: 9 Ash: 7 Elisha: 5 Sonja: 4
: four?
Which of the friends should not be included to make a team of four
Circle the correct answer.
A Rachid B Jaden C Ash D Elisha E  Sonja
8.  The temperature in a room is -3 °C. s ;e
Holly switches on a heater, which heats the room by 2 °C evcur(y}mmu e.
How many minutes will it take for the room to heat up to 17 °C¢
( J J minutes
Test 8

26 © CGP not to be photoc opied



9. Nancy is tidying away her toy blocks into
a cuboid-shaped box, as shown here.
The blocks are cubes, with a width of 5 cm.
How many cubes can she fit in the box?

Jean’s grandson Johnny was born on Jean’s 50" birthday.
Jean and Johnny now have a total age of 80.

10. How old is Johnny now?

11. In ten years’ time, what fraction of Jean’s age will Johnny’s age be?
Circle the correct answer.

AR B '/, C i D 17 E 3/,

12. A photographer prints photos in a variety of sizes.
The ratio of the width to the height of a photo is always the same.
Three photo sizes are shown below.

10 cm

4 cm BIpr

6 cm 12 cm 15 cm

Circle the expression below which gives the width of a photo with height x.

A x+2

B 2x

C 3x

D 1.5x

¢ By e /12

© CGP — not to be photocopied 27 Test 8



ills on these
Now for a break from 10-minute tests. Try out your sk PUZZ]eq

An Age-0l1d problem

George has three nephews, Laurie, Le'on.and Luke.
He is trying to work out how old Laurie is. e
Two of the nephews always tell lies. The other always tells the truth,

Here’s what they have to say about their ages...

Laurie: Leon: Luke:

I am the
youngest

| am older | am younger
than Laurie than Laurie

George knows that the boys have a mean age of 8, that their ages are
spread, and that the youngest boy was born 6 years after the oldest.

Can you help George work out Laurie’s age?

Save the Date

evenly

Nina is trying a new way to save money.

She will put a different number of pennies
in a jar each day to match the date.

For example, on the 17" October (17/10)
she would save 17 x 10 = 170p.

She starts this new saving scheme
= on the 30" May.

——— On what date will she have

more than £5 in her money jar?

Puzzles 3
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You have 10 minuy g )
tes to do this test. Work as quickly and accurately as you can.

1. Liam dra g
Circle thgvsshzggtﬂf?gt T_izﬁ?sencgtii;ﬁ’niZEgown aeY
A Cube .
B  Cuboid
C Cylinder
D  Pyramid
E  Triangular prism

2. Adance class has more than 20 but fewer than 30 members.
The class members can dance in pairs or in threes with no one left out.

How many members does the class have? Ejj

3. In a vegetable growing contest, gardeners compete to grow the heaviest carrot.
The table below shows the top three entrants in the contest.

Gardener Mass of carrot (kg)
Bill 7.099

Bob 7.901
Betty ool

Who should win 1%, 2™ and 3" prize? Circle the correct answer.
15t Bill, 27: Bob, 3™: Betty
1st: Bill, 2: Betty, 3™ Bob
15t: Bob, 2" Bill, 3™: Betty
1st: Bob, 2": Betty, 3" Bill
1 Betty, 2"%: Bob, 3. Bill

moA® >

g Test 9
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Test 9

: cuts their pizzg
h friend 7
: : . end belg
. . za e ; Circle the 1ri W
i i ' dentical pizZza lices. :
'i:r‘\\’:g glgi?f(ii:riviuan:k;er of equa”y_SIZfothe other friends.
who eats a different amount of pizza

ach

Paul eats 2 out of 3 slices of h‘IS P.'ZZZ:.
Zac eats 6 out of 9 slices of hlS. plZ. "
Nate eats 4 out of 6 slices of h!sh[?ll 17
Rhys eats 10 out of 12 slices of I‘S pizza-
Nico eats 20 out of 30 slices of his p

mo O ® >

. He needs to inc|
{ cotton buds. Hen Ude 4
Saif is desi%)ningfablaé)se:ntc;gpc;gl? szkio‘zmts the number In five of the packs. he
mean number of bu i

1
160 159 155 165 16

n number of buds ;
What number should Saif put on the label for the mea ds in 4 Pac,

Max sees the following written on an old building:

FIRST BUILT MDCCCLXXXVI
RESTORED MCMLXXX

H 1 i =Y - Z
How many years after it was built was the building restored?

Mia wants to draw a regular pentagon. She knows thf* angles inside
must add up to 540°. How big should she draw the first angle? (7 7{» “I 24

Layne wants to paint a rectangular wall, which is 2.5 m high and 10 m wide.
Each tin of paint will cover an area of 7.5 m?.

How many tins will she need to buy?

L

[ I
!
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The pie charts below show the ingredients in two different recipes for pancakes.

milk 240° milk 160°
A

Recipe 1

450 g total 450 g total

g. Circle the statement which is not true.

Recipe 2 contains more flour than recipe 1.
Flour makes up less than '/; of recipe 1.
Both recipes use the same amount of egg.
Egg makes up more than 10% of recipe 1.
Milk makes up /5 of recipe 2.

10. How much milk is used in recipe 1? Give your answer in grams. m
8

Tia has a job delivering leaflets to houses. She estimates that the job will take her
25 minutes to walk to the first house, 1 minute for every leaflet she delivers, then
another 20 minutes to walk home after delivering the final leaflet.

mooO % P

11. Circle an expression below that Tia could use to calculate the
total time for the job, in minutes, if she delivers n leaflets.

A  45n C 25+ 20n E 45-n
B 25n+20 D 45 +n

12. Tia gets paid 10p for every leaflet delivered.
How much would she get paid if the job took her a total time of 2 hours?

L1OC0)

/12

© CGP — not to be photocopied 31 Test 9



ly as
. and accurately as yq,, Ca
You have 10 minutes to do this test. Work as quCkly i

: were:
ball stadium
Over three matches, the attendances at a foot
2 664, 23 500 and 26 739.

t 1000°?
o the neares
1. Whatis the smallest attendance, rounded t

Esau

d largest attendances
What is the difference between the largest and secon g o7

ek

like the one below,.
s of coloured paper from sheets of paper [5hs .
h?% strips parallelptopthe long edge, as shown. Each strip is 3 ¢m Wide.

2.

Jessie cuts stri
She cuts all t

29.7 cm

not drawn accurately
strips 3em § [

21 cm

3. Jessie has 100 sheets of coloured paper.
How many strips can she cut in total? |
4.  Jessie wants to draw circles on some of the strip§.
How big should the radius of each circle be to fit the
width of the strip exactly? Circle the correct answer.
A 6cm B 3 cm C 2cm D 1.5 cm E 1 cm
Test 10 39
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- 4 2
Ben takes two teaspoons of sugar in his tea. Each teaspoon of sugar we(:jl%’hsz &
How many cups of tea will he make before his 1 kg bag of sugar is used Up*

6. One pint is approximately 568 ml.

Zara has 11 pints of orange juice and wants to pour the juice into litre bottles.
How many bottles will she need? Circle the correct answer.

A 5 B L5 Chiy D 12 E 20

People in Dimton receive a leaflet to inform them of the drop in crime in the town
since street lighting was improved. The letter includes the following bar chart.

Before lighting improvements

lAfter lighting improvements

1 1 >
500 600 700
Average number of crimes per month

7. Why might the people in Dimton find the bar chart misleading?
Circle the correct option.
A The bars should be vertical not horizontal.
B  There should be at least 3 bars.
C The scale on the horizontal axis is not evenly spaced.
D The scale on the horizontal axis does not start at zero.
E The scale on the horizontal axis should go up in 10s.
8.

By what percentage has the number of crimes each month fallen?

A 10% B 20% C 25% D 50% B 90%

© CGP — not to be photocopied 33 Test 10



Now for a break from 10-minute tests. Try out your skills on this puzzle.

Puzzles 4

e

and

For the grid on the right, Rosie colours:

7 squares red

3 squares yellow

5 squares pink

the rest of the squares green

2 3 - 5 6 7 8

9 |10 | 11 (12| 13| 14 | 15§ 243

16 | 17 | 18 | 19 | 20 | 21 | 22

23 | 24 | 25 | 26 | 27 | 28 | 29

30 |31 (3233343536

37 | 38 | 30 | 40 | 41 | 42 | 43

44 | 45 | 46 | 47 | 48 | 49 | 50

Red and Yellow and Pink and Green

Rosie wants to colour in the numbers on a grid to hel
cube and prime numbers. She has four diffberent colo
red, yellow, pink and green.

She colours the square, cube and
uses the other colour for any

p her learn the square,
ured pens:

prime numbers each in a different colour,
remaining numbers.

2 3 - 5
6 7 8 9
10| 11 [ 12 | 13
14 | 15 | 16 | 17

Rosie then uses the same colour for each type of number on the grid below.
How many squares of each colour will there be on this grid?

© CGP — not to be photocopied 35
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You h ave

10 minutes to do this test. Work as quickly and accurately as yq, Can

In 201¢ - = :
n }:0]_6' the Population of a country was 65111 143. :
at is the value of the 5 in this figure? Circle the correct option.

A 500 C 5000000 E 500000
B 5000 D 50000

Afo“ Water tank starts to leak at a rate of four litres every hour.
After 14 hours, the tank is empty. What is the capacity of the water tanj;

g~ ——

o il [

A school tuck shop’s price list is shown below.

Chocolate bar 79p
Crisps 65p
Fizzy pop 80p
3. Chris buys one of each item and pays with a £5 note.
How much change should he receive? D CE
£ .
4.

All of the chocolate bars are about to go out of date.
The tuck shop owner decides to reduce their price by 20%. .
What is the new price of a chocolate bar? Circle the correct option.

A  62p C 60p E 50p
B 56p D 58p

5.  All four members of a relay team run 100 m each. Their times are 10.2 seconds,
12.3 seconds, 11.5 seconds and 14 seconds. What is the mean of these four times?

(_ ——] seconds

Test 11 36 © CGP — not to be photocopied



68.8 m I

6. The radius of the cricket ground is 68.8 m. What is its diameter?

(10
7. The rgdius of the ground is increased by 25%.
What is the new radius of the ground? [Hj
m

8. Darragh thinks of a sequence. The first number in his sequence is 34,

the second is 43, the third is 53 and the fourth is 64.

What is the sixth number in the sequence? Circle the correct option.
A 103 C 76 E 93
B 89 D 86

ical squares on the axes below. The coordinates of

9. Safron draws four ident
What are the coordinates of the point marked A?

one corner aré shown.
YA

N
(-6, 6) \\ /
%

)
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10. The graph below shows the number
TV talent show. ‘ o (

hline voting
oduced

Number of voters
T
L)
S




You have 10 minutes to do this test. Work as quickly and accurately as you can-

1. The t-rain journey from Cambridge to London takes 53 minutes.
A train leaves Cambridge at 11:25. What time does the train arrive in London?

Sealibal.

2. Aaron is buying supplies for his garden. He buys 0.65 kg of bird seed, 500 g of
daffodil bulbs, 1300 g of compost, 0.9 kg of fertiliser and a spade weighing 1.6 kg.
What is the second heaviest item that Aaron buys? Circle the correct option.

A  Compost C Bird seed E Daffodil bulbs
B Spade D Fertiliser

The diagram below shows a flag.

not drawn accurately




- :

“ Computer in 86.687 seconds.
e on

conds it would take Chloe to type

S0LT A i > cvame oy

ke completes a 100-word typing exercis

i of se
5. Circle the best estimate for the number

500 words.

360 seconds
490 seconds
400 seconds
510 seconds
435 seconds

P e Sk

moA® >

han Chloe to complete the 100wy
ke Siobhan to complete the exercisg

ey

own in the table below.

e 6. Siobhan takes 4 tenths of a second 'Ong-ert;
| speed typing exercise. How long does It

7.  The results of a long jump competition are sh

Athlste | Length of jump (M)
Anne 8.65 ;
Ben 6.90
Clint 9.00
Daisy Z7.35
- Edward %

dward jump?

mean léng_th of all of the jumps was 8.00 m. How far did E

ds '/, of his salary on rent
s does he have left over




9. David writes out the first four terms of a sequence. These are 1, 5, 13 and 29.
Each term is found by multiplying the previous term by 2 and adding 3. ’
Which of these numbers would not appear if he continued writing his sequence:
Circle the correct option.

A 61 £ ante E 1021

B 125 D 509

A conducto.r asks a band of 80 musicians what kind of music they want to play.
He puts their responses into the pie chart below.

musicals classical

not drawn accurately

rock
other

pop

10. 60% of the musicians who said ‘other’ want to play jazz music.

How many of the musicians want to play jazz?

11. Thirty musicians want to play pop music.
- What is the size of angle y on the pie chart?




e

3

4.

You have 10 minutes tO do thi

o as quick!

s test.
re in
A gardener records the average €'’ g

days. The temperatures are 33
tures are W

When these tempera
which value is in the middle?

ritten !

1o equal pi

Harry wants to divide his CD collectio
al piles of €!

He can only divide it into equ
What is the smallest number 0 CDs

a. He pours

Rick is making himself a cup of te
t is the total

mug and adds 25 ml of milk. Wha
Circle the correct option.

A 0.325 litres
B 55ml

C 0.525 litres
D 0.355 litres

The diagram below shows the side view of a doorstop placed at the foot of a door

y and ¢

95 °C, 2
" order fr

curately as you cap

- five dj
his greenhouse on iffe
0 °C, 41.74 °C and 35,4,

.lowest to highest, 0

=l

les of more than one cp

s, 9 or 17k
. his collection?

om

0.3 litres of boiling water into a
volume of Rick’s cup of tea?

E 0.55 litres




The credits at the end of a film say that it was made in the year MMVIL

A sequel to this film is made seven years later. P,
What year does it say in the credits of the sequel? Circle the correct optoti-

A MCXIV C  MMXIV E  MMXXI
B MV D MMC

A brick is T00 mm wide, 200 mm long and 60 mm high.
What is the volume of one brick? Give your answer in cm?.

Ella draws a rectangle on the coordinate grid below. Three of its corners are at
(2, 3), 2, 7) and (8, 7). What are the coordinates of the fourth corner?

104

8

6




ded his whole journey on ¢

How far had Roger cycled in total beforé

He recOl‘ &
opP-
9. Roger rode his bike to and from a shoP g
distance-time graph below: R el 11"/1 :J,/'
AT [ il iile g A1
© 8- =7 4;
_8 64 ‘ e g MY =11
(@) . S
& A 3 '*
B ] =
2 T o
P B SR 0 7
2 ST g oa0neqi Vi
Time (minutes) 5
k to the shop.
. d to go bac |
On the way home, Roger realised he neect'ﬁmmg back to the shop? ;
mkm

for a total of £867(,

dentical laptops

During a sale, a computer shop sells fifteen 1
e the correct answer.

10. What is the sale price of one laptop? Circl E £482
A £619 C 502
B o D £578

- 1/_ of the sale price. How
i |aptop increases by '/5 O : Much
11. After the sale, the price of the laptop e the new price?

money would the shop make if itsold 15 la

50, plus 50p per kilometre
v £1.50 and raises the price
the cost in pounds




Puzzles 5

m 10-minute tests. Try out your skills on this puzzle.

This dart scores
3 x12 =36. This dart scores

and in each segment of a dartboard
t number of points.




y and accurately as yo, can

ickl
: rk as quic
You have 10 minutes to do this test. WO

% 1HO ecC t t'l

ft
e e T ;
‘ t2 Circle the correr;
What is this figure rounded to the nearest hundred fee i fLlo iy
at is this figu =
A 33000 ft C 30000 ft .
B 32560 ft D 32500ft

i t the sa ‘
Car A and Car B both leave the start line of a circular race track at t me time.
2

The track is 5.5 km | ong. How far will each car have travelled after Completing
four laps of the track?

almy

ne track and Car B takes
tart line at the same ti

7 Minuteg
me agai




_ A hockey team -
3 How ma):ly matglnzsdss matches in a season. It wins %, of these matches.
0es the hockey team not win? Circle the correct option.

& o TR E 35
7 D 30
6. The prices of cars on sale in a car showroom are shown in a bar chart below.
16 —5on
o
=2
S
=388
o2
£ a-
=
0-

Car price

e
y wants to buy a car from the showroom for less than £20 000.
t want to buy a car for less than £5000.
tage of the cars on sale can Sandy buy? Circle the correct option.




ogether to form a T-sh L
At a party, two identical rectangular tables aré put tog Pe as Sho, |

8. What is the total area of the two tables? 1
Circle the correct option. ]‘
A 044 m2 r/—- 220 i
B 4400 cm?
C 2200 2
}cm 100 cm
D 44 2
E 44m2
9

i r answer in
What is the perimeter of the T-shape formed? Give you Metres

z

4

The diagram shows a bicycle wheel. width

tyre

spoke

10. What is the size of the angle marked x?

11. The length of one spoke on the wheel is 64 cm. |

The width of the bicycle tyre is 1/, of the length of one spoke. |

What is the total diameter of the wheel?
12. Luke writes out a sequence. The first six numbers in his sequence are 1, 1, 2, 3, 5, 8.
Each number in the sequence is the sum of the previous two numbers.

Which term in the sequence will be the first to be greater than 1007
Circle the correct option.

A 12% term C 15% term

E 13%term |
B 10%term D 9%term G F

48

Test 14
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ou have 10 minutes i
Y to do this test. Work as quickly and accurately as you can.

g :)?AV/ nr:farnuysisa?eggifes of hay each day to feed 12 horses.
ay would he need each day if he owned 30 horses?

kA

The tabl
e table below shows the mean temperature one day in five UK cities.

City London Belfast Cardiff | Manchester Edinburgh
Temperature (°C)| 4.6 °C 0.2 °C 2.1 °C 1are -2.4 °C

What is the difference between the highest and lowest temperatures shown?

[ ol

The diagram on the right shows the net
of a cube drawn on a piece of card. 2

53 |91

4

Y
v

12 cm

3. When the net is folded into a cube, which face will be opposite
the face marked with a star? Circle the correct option.

AR 1 R Cixegs D 4 a5

4. What is the volume of the cube?

5. A recipe for 25 cookies requires 225 g of butter. Simon has exactly the right
amount of butter to make 20 cookies. How much butter does Simon have?

e

_not to be photocopied 49 Test 15



.o until she is facing e
6. Tracey is facing south west. She tum; Cltzf'rjvtvl'llf'gugh? ;
How many degrees clockwise does sh€ N
Circle the correct option. 4
NW I
A D2ES
B 180° W E
S 2anse SW ! SE
D 1350 3
B 3100
¥ 74

ok with 850
A teacher gives her class twenty-five days tO read 2 2? each day untFi)Ia ES. Al
starts reading the book on Day 1. She reads 50 pag she f

4 e before the 25 (¢
the book. How many days does Alice have to spar aYs are D

Tony uses the graph below to convert the nqmber of kilometres
€ drives to and from work each day into miles.

: =
41— il
(T a1
b 1/ IR
2 o
c le the correct option.
-1 miles
o F e
| from work?



e AR W g g 13T e

dashed line shows the wall between the two houses. This is the mirror line.

.«al;gthe coordinates of the reflection of point P?

ne contains 56 counters, which are divided equally among
ich player receives a prime number of counters.
mum number of players that there could be?

=

given 50% of any tips given each

‘can be used to calculate the waiter’s pay
or & hours and there were ¢ pounds

SO0 SO SITROTT Y

o

‘hou

He is also
CHR R

iy - .,{3;';;4";;: S




[ ——

i hese
our skillson t Puz,|
Now for 5 break from 10-minute tests. TrY outy! S,

o Ty o
Bogged pown \

omes across a sy,
n she C am
An adventurer is searching for treasure whe

. red squares and a Seriec _
Fortunately, she has a map divided into numbe ;

Of
clues to help her cross safely. .
; p Y to work your way down to the boty,
Starting on the top row, use the clu.es hrough the swamp. LY
the grid to help the adventurer navigate thf

, . aight down or dijae
You can only move one square at a time, either straig SONayy,

» The smallest prime Number
ey ) han -3
20 e o L A B « 13 more than —3.
. ’ « The number that is written, X
B 10 a2z | it 15t e B meral X
7112119120 211 22 o312 . 14% of 200.
25126 27| 2¢ 29123012122 « 6 squared.
AT T = The next number in this sequen.
33|34|35|36|37| 38| 39| 40 Then s 45, | e
41142 | 43 | g | 45 4o | 47 | 48 +  The number that is ¥ of th,
highest number on the grid
49 50| 51|52 5354|5556 e LN
« The highest prime number oy, the
|27 |58 159|600 61 |62|63| 04 grid.

/\/\/\/\/\
Muddy Maths

Bertie is using the worms in his back garden to practise his sums
them seems to have wriggled out

, but one of
again by moving only one worm.

of position. Make the sum below correct
tﬂm‘\agf_;.j




Test 16

You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. David attaches a slide to the side of some K L
bunk beds, as shown on the right. g slide
The angle the slide makes with the floor, 5 bunk beds
is 53°. What ssize is angle a? : - b

Tty chocolate bar weighs 50 g. A box containing 1500 g of chocolate bars
arrives at the supermarket. How many chocolate bars are in the box?
Circle the correct option.

| A 35 cais E 50
; B 30 D 10

Michelle has recorded a podcast show which is 105 minutes long.
She needs to add four adverts into it to break up the show into five equal parts.

How long will the show last in total, including the adverts,

if each advert is 3'/, minutes long? »
(T Jminuees

/ far into the show should Michelle put the first advert?
the correct answeri. &t 0 de Lot



; ab
Jason has an L-shaped sofa. The view from

ove the sofa is shown here.

1.5m
4—-—-P*

3.5m

4m

What is the perimeter of Jason’s sofa?

What area of the floor is taken up by.jfasOn’s sofa?

: 19 mmi

A SuiE sl B afie

The grid below shows th.
There are trees plan e
Three of the corners |
The dashed line s
~ What are the coo

or of a kite shape on the griq.
S 0hand (2, -2).




10.

it

A book was on sale in 5

Amy bought the book 3
5% off the sale price.

How much did Amy pay for the book?

n5dh0p for £19. Its price was reduced by 20%. /& S
used a voucher at the till which gave her TN LR

{ [ 1
The boss of a small com

pany wants to give all of his staff a Christmas bonus.
:2\23;, 3 Ctﬁt\?J_ l?f £9823 to share out equally between 19 staff.
il each member of staff receive as a Christmas bonus?

L[]

Harriet is cutting up a wedding cake with three circular layers, A, B and C.
She cuts the wedding cake into a total of 118 slices.

Slices from layer A measure 15° each. Slices from layer B measure 12° each.

Top view of
wedding cake



quickly and accurately as v, :

an‘

You have 10 minutes to do this test. Work as

y three chocolate bars you ge; o

Cho if you bu
colate bars costs 55p, but if yo late bars can he get? = free‘

Mohammad has £2. How many choco
Circle the correct option.
A R
B D 5

B0

2. Rashid’s allotment is the shape of a rhombus, as shown.

12.4 m,

What is the perimeter of Rashid’s allotment? m f
| 'Dm '5

3. Sharon has a footrest under her desk in the shape of a triangular prism,

The end of the footrest is shown below.

Ty

r_ to the bucket.




The Rose School has four different after-school clubs. The number of pupils in
each club is shown in the graph below,

Each pupil can only belong to one club.

% 16_1:»} I ,E SRS 1
3 ot (OSSN ,
5 = NEN s Bl = girls [ = boys
5 ST = B
-Q K iar e S—
E 4
E o O : ) ‘{
P ®
\‘?’{bb O <&

How many more girls are in rounders club than in nature club?

[ 4

6. The girls from reading club, the boys from nature club and half of the children

from rounders club are all waiting for their lifts home together. How many
children are waiting altogether?

'vaﬁte%school cigbs,-are a-sked if they like their club or not.
ren say they do like their club.
ren |

2 anomad



D

tiles each hour and leaves

dds
e r the first four hours,

a .. i B
Jacob is tiling one of his bathroom walls.

them to dry. The diagrams below show th

T

3 hours 4 hours

9. How many tiles will Jacob add during the fifth hour if he follows the same Patte,
.

10. How many tiles will he have put on the wall in total after seven hours?

Circle the correct option.
A 56 c 72
B 42 D 55

B 54

11. Sarah and Robin are having a craft afternoon. Sarah has eight blue buttons anq
five black buttons. Robin has seven green buttons and four purple buttons.
Sarah gives 60% of her black buttons to Robin. Robin gives 75% of his purple
buttons to Sarah. How many buttons does Sarah now have?

: i'!" Fie? m

orner has an angle of 61°.
between 90 and 100.

The second




Test 18

You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. There are ninety pairs of bowling shoes at a bowling alley.
Seventy of-the pairs are in children’s sizes and the rest are in adult sizes. :
What fraction of the bowling shoes are in adult sizes? Circle the correct option.

Ao Gy ETS
B2 D%

2. Marvin shares out three packs of playing cards equally between himself and three
friends. Each pack contains 52 cards. How many cards does each person get?

[bo] 4

3. Kevin plans out a running route that is 5.5 km long.
When he does the run he has to make a detour.
The detour adds 150 m onto his route. How far did he run in total?
Circle the correct option.

A 5500m € H600 i E " 5340m
B 5650m D 6000m

4. Shannon cuts a block of wood in two, as shown.

2

What is the size of angle x?

© CGP — not to be photocopied 59 Test 18




Matt recordeq how many times he did activities that used water one Saty;, day,

-‘é"@ing up 7 litres -
T:how§r 7 litres per minute ekl
E‘USh‘"Q the toilet 9 litres T'-L\
ath ;
75 litres

S\?Od = drink 6 litres 1
| VVashing fa : [

g face 4 litres = ]
2. What percentage of Matt’s water use on Saturday was used for a bath?

A 40%, C 60% E 80%

Circle the correct option. 1‘
|
B 50% D 70% ‘

& 4Qq Sunday, Matt had a shower for six minutes instead of a bath.
How much water did he save by having a shower rather than a bath?

7. Jeremy was watching a film at the cinema that was meant to last 128 minutes, j
There was a problem with the film and it stopped running %3 of the way through

How many minutes of the film did Jergang%;}ygtch{ Circle the correct option,

eces are the
cm long.




_ , —————-—-—-——1
Jamaal makes a mug of hot chocolate and leaves it to cool.
The graph below shows how the hot chocolate cools down over time.
1004
804

Temperature of 601 "\
hot chocolate(°C) 40

‘ b s P P

% O O Y

—d

1
-

0 10 20 30 40 50 60
Time (minutes)

>

9. During which of the followin

’ g periods of time after the hot chocolate was made
does its temperature decreas

e most? Circle the correct option.

A 0-10 minutes C  20-30 minutes E 40-50 minutes
B  10-20 minutes D 30-40 minutes

10. If the hot chocolate was 90 °C to start with, what percentage of its original
temperature was it after 60 minutes?

d ""’ friend, Tom, go to an ice cream parlour. The cost for s scoops of
th marshmallows is given by C = 655 + 15, where C is in pence.

e scoops of ice cream with marshmallows. How much does she pay?

$

Pockeal § 2y 5



Try out your skills on this PUZzle
inute tests:

Party Tlme je for 2 garden party.
Alan and John are putting up @ fOodhtZZihe table should go.
e ver ey VGRS P of the table at the party.

The grid below shows the first positio” P
LD =y N

T
]
‘_"..__-_-—'
,‘——""_-_'-
Lt
s
s Ll

- s first position. They jotted
John and Alan were facing south at the table’s . ey 10
down notes on how they had moved the table to different positions:

1. We walked forwards 2 squares, then turned 40° anticlockwise
and walked forwards another b squares and set the table down.

2. \we then moved the table so it was reflected in the x-axis.
3. We then translated the table 2 squares up and L squares left.

The four different positions of the table form four corners of a shape.
What shape is it?

Puzzles 7

Now for a break from m




have 10 minut i
\ You es to do this test. Work as quickly and accurately as you can.

* { &

:
H g

Jeb reads the following line in a school history textbook:

The Romans invaded Britain in 43 AD.JY

hat i i i
What is 43 written in Roman numerals? Circle the correct option.

AL LXIV @ Sau E XLVII

Zoe measures the heart rate in beats per minute (bpm) of five athletes after a race.
She ta!<es measurements of 93 bpm, 89 bpm, 101 bpm, 112 bpm and 98 bpm.
What is the difference between the highest and lowest measurements taken?

SN

The diagram below shows a picture frame hanging on a wall.

y

ad

frame
36 cm Bl oot

2dscm

glass

The frame is 2 cm wide all the way around the glass.
What is the perimeter of the outside of the frame?

4.  What is the area of the glass? Circle the correct

A0 75 6 cn?
"B 396 cm?




: ferent types of vehicle
This table shows the maximum distance that four dift 4 ~ Coyly

travel in one hour.

i : Sy van

o 1 Car B'CYCIB —— \n\%
e = - 75 84 |
e

A : istances?
5. What is the mean of these four maximum di

‘\'ﬁ
N

: . uces the maximum dig;.
6. Thevan hasa speed limiter installed, which red tance ;

. ] ion of its original maximum g, ¢,
travel in one hour by 12 miles. What f"adfo? the correct option. d'st“nce‘\
the van now able to travel in one hour? SLas 6/ 5

A Lt C. o Boe : |
B %4 D %

7. 5 miles is approximately 8 kilometres. Use this aPP’O;‘ii’:ztr']znhtoouﬁnd the
maximum distance in kilometres that a lorry can trave r.

!-ﬁbﬁ E.h‘i 3




factory m
10. A ry makes twq types of hexagonal tiles, one regular and one irregular.

The angles in any hexagon add

: : : P to the same amount. Find angle a inside the
irregular tile. Cj

rcle the correct option.

AN

C. Bht Eds w52
B 20°

D 60°

A printing company uses 70 ink cartridges each month.
42 are black ink and the rest are coloured ink.

11. What is the ratio of black ink cartridges to coloured ink cartridges used each

month? Give your answer in its simplest form. D

12. Normally, black ink cartridges cost £6 and coloured ink cartridges cost £c. :

= During a‘»sgale, the company can buy two cartridges of the same type for thg price
one. Circle the expression below which shows the sales price, in pounds,

a months supply of cartridges.

-/ < S e .- f
; chn-28e




2 S ickly and accurately as you cap
t. Wor

is tes
have 10 minutes tO do this
You

ne hundred and ni.net?/—nine?thousand eight
s number written in figures?

SRR RN,

biology teacher asks the pupils in his class how many glasses of water they drin
A Dioio

f 2 small city is 0

1. The population O,f()ur. What is thi

hundred and fifty

s each day. He records their answers in a table.
Glasses of water 1 2 3 2 i ”
Frequency 2 4 3 1

What was the most common response by his pupils? [:]

3. Steph goes to the dentist on 19" October. The dentist tells her to come back in
2 weeks for a check-up. On what date does Steph return to the dentist?
Circle the correct option.
A 26™ October C 21 October E

9% November
B 3" November D 2" November

The diagram on the right shows a triangular coat hanger.

. . a
4. What is the size of angle a inside the coat hanger?

37° 37}

Test 20

i
'Opl
AA it sn he phot®




~ Afurniture shop sells rectangylay single mattresses that are 95 cm wide and 190 cm long.

e 190.cm

v

95 cm

6. What fraction of the length of a single mattress is its width?
Circle the correct option.

A s oy E

B % D13,

7. The shop also sells double mattresses that are 133 cm wide. By what percentage

is the width of a double mattress greater than the width of a single mattress?
Circle the correct option.

AT 10% C ¥ 30% E 50%
BB 0% D 40%




Sami o1 .
Mira positions her garden chairs on a square patio.

The view from above is shown in the diagram-
patio i
—1—
chair—
s

SNES T

ken up by the chairs?

& What fraction of the patio’s total area is ta
Circle the correct option.

-
A 1/20 B 3/20 G et D /5 E 17/20

dw

-;ia;'tla'keaway is 1.25¢ + 8,

10. The patio’s total area is 16 m*>. What is the perimeter of one chair?




Puzzles 8

Now for a break from 10-mi
-Miny :
e te tests. Try out your skills on these puzzles.
e SN

Help him work out what

,, ord
e_ B b roreiha s €r to put these stones on the bottom row.

one answer.

1 i 314

If he rearranges the stones on the bottom row, what is the highest possible
 number that could be on the top stone?

made by drawing four
dotted grid to the right
leaving the paper. i
1k the g]w?d)~ 117, 3 e

logo is




You have 10 minutes to do this test. Work as quickly and accurately as you cap

Dan needs to bake 125 cupcakes for the bake sale tomorrow.
He has baked 44 so far. How many more cakes does he need to bake?

Ashley measures a flag and finds that two of its sides are of equal length,
What is the name of this shape? Circle the correct option.

A  Trapezium
Right-angled triangle
Isosceles triangle
Equilateral triangle
Scalene triangle

b e @)

3. Corinne sees this sign in a museum.

_ not to be photoe®?



A sunflower was 75 cm tall

¢ e B S It is now 30% taller.

WS

6. There are 185 boiled and ch

to ch ewy sweets in a box. The ratio of boiled sweets

ewy sweets js 2 :
y 1S 15 2:3. How many chewy sweets are there in the box?

&0

Mmss Porter asked. Year 6 pupils to vote for their favourite fruit.
She recorded their answers in a bar chart.

20

15

Number of votes
-—
o
|

o
T

strawberries



80° anticlockwise,

8. Snlis facing south east. He turns 1| i Nw N
then 45° clockwise, then 135o.anth°, le the correct option. Ny
Which direction is he now facing? Circ w
A east D north Sw b
‘ st S
i B north east E northwe g
Q

C  south west

10. Callie draws a square on the grid below.
Three corners 019 the square have the coordinates (=1,4), 2, 1) and (-1, )

?
What are the coordinates of the fourth comer of the square!

ts 36 trees so
in the team?




1. Gethin has driven his car 23 781 miles in total.

How many miles, to the Nearest thousand, has Gethin driven his car?

; 2. Inasurvey, 84 out of 200 pupils said they could play a musical instrument.
- What percentage of p

upils can play an instrument?

needs 300 ml of milk to make twelve pancakes.

ch milk is needed to make three pancakes?
e correct option.

Do




2 n afield is 2:9.

The ratio of black sheep to white sheep iblack sheep are in the field;

There are 66 sheep in total. How many

' ils.
6. The pie chart below shows the favourite sports of 33 pupils

38

1 gets the bus five i e e e length of time she spens
;?et«ﬂiebus stop is 13 mmutes x_How'long does she spend waiting for the

E 40 minutes

and 25 m long.




_ Laura made 200 fruit pies, 1
9 64 had a cherry filling and th
What fraction of the pies haq

2 had an apple filling,
e rest had a blueberry filling.
a blueberry filling? Circle the correct option.

AT
3 2 C 1/15 E 1/24,

10. Sasha made a box in a woodw

) . ork class. 3
What is the width of the box? ass. The box has a volume of 288 cm

not drawn accurately

4 cmi
mcrh I ¢
A [ Jem

wants to reduce the amount of time she spends watching TV.

es that each week she will spend 25% less time watching TV than she
week before. She spends 16 hours watching TV in Week 1.

ime will she spend watching TV in Week 4?

U bours [ Joinutes

s

shirts to charity for every

. 4 513




. ly
} as qL”Ck
You have 19 minutes to do this test. Work

1.

and accurately as you o

: Ily, as shown below
Mallika cuts a rectangle of card in half diagonally.

. best option.
Estimate the size of angle x. Circle the

A 95°

B 170°

C 70° )
D 105°

Eio 38

Th 55 houses on a street. /s of the houses on the street have 3 b, dog;
ere are : :
How many houses do not have a blue door?
9 o e
Freya is on a cruise ship. The porthole mher cabm has a radius of 345 ¢y,
What is the diameter of thEJ?E 4 ¥ o

orthole?

;.

»



. , - R

A train timetable is shown, below

Fartown LR CLH
08:40

Northtown - e

09:30 09:55

How long does it tak ;
e the train leaving Newtown at 8:20 to get to Oldtown?
L_Ll_J minutes

y between Newtown and Oldtown depends

atis the mean length of time it takes these
ewtown to Oldtown?

6. The length of the train journe
on the number of stops. Wh
three trains to travel| from N

- There are 500 piglets on Libby’s farm.
 of the piglets are fed in the morning and the rest are fed in the afternoon.




B EEE———

Tarek splits 91 playing cards into gqual P”es;—;umber.
The number of cards in each pile is @ prime e[ il
What is the smallest number of cards that €2t

M
\_ﬁ
\\

1%
10, :? cafe sells hot chocolate for £3 and CUPfStg; t’f,:\:;lhficc):Lizxpression shows
O /
they sell x hot chocolates and y cups o2 Circle the correct option

how much money they have made in penc

A 300x +y C  300(x+)) Bl by

B 3y-—x D 300x + 100y

The viewing figures for the first 10 episodes of a TV drama are shown in the |ine 8rapy

500 000 7
400 000+ = ¥
3 300000 \C
= \
200 000
3 : , 1030000_ ],5 — 11
PRI e T SRR s i A S S
s 9 10

number of views
atched episode?




Now for a break from 10-minute tests. Try out
/—7 \

your skills on this puzzle.

‘——'———1

pifficult Directiong

Socks the cat is going to Rover the dog’s new house.
Rover has given Socks 5 Map and a list of clyes.

Follow the clues to help Socks work out which square
on the map contains Rover’s house.

Clues to my new house \

My house is an equal distance from the two trees.

My house is not halfway between two ponds.

My house is closer 1o the sheep field than the pig field.
My house is further north than the swings. 0@0

There are no houses directly west of my house. @@/

VN

21 22 23 24
m z 5 ) 9 10




kly and accurately as yq,, .
n,

uic
You have 10 minutes to do this test. Work as g

ht. Her book has 220 pageg

h nig
1. Maya reads 20 pages of her book eac b0
How many nights will it take her to read the W

i r house over four d
Sally counts the colours of cars she sees driving past he ays.

She records the numbers in a table.

Day y ‘Blu_@ P b BlaCk Red
1 6 4 s
P 3 5 1
3 3 0 4
4 4 3 0

2. Sally counted 35 cars in total. What fraction of the total cars were red?
Circle the correct option.
. e pIREE - Ay NN
B s D | Yol |

TR0

\g&hﬁﬁ was the mean nut

1
e
=t
v

ia; gty }

o

» mirror?




; ‘.‘5‘6”5 some DVDs for £25 in total.

He saves 70% of this money and
Jends the rest. How much money d o O Y

oes he spend?
o] (858

rocket launched into space travels at 8.2 km per second. Estimate how
the rocket will have travelled in 9 minutes. Circle the correct option.

3210 km

B Yo 3
ition, the gold, silver and bronze medal winners each stand
. The front faces of the three platforms are shown below.
has an equal width.

ea of the front face of the silver medal winner’s platform?




olf fits exactly 13 E?ooks of equa] .
le the correct option. ]
E 6.5cm

Sa A bookshelf is 84.5 cm wide. The S.h
What is the width of each book? Circ

A 5cm C 9.5cm
B 6cm D 8cm

d as shown.
10. In a hotel garden, three identical flower beds are plante AR

¢2.5 m

6m

What is the perimeter of the shape made by the three flower beds?

11. Zahra thinks of a sequence. - =
The first five terms in the sequence ¢
What is the seventh term in the sequi

ks 2 hours per week.
 his pay. Circle the




you have 10 minutes to do this test. Work 4 quickly and accurately as you can.

Mo weighs out five different mg

sses of : ;
Which mass of sugar is the second o827 250 & 1.75 kg, 300 g, 0.5 kg, 2000 8

ond heaviest? Circle the correct option.

AT 250¢g
B 1.75kg
C 300¢g
D 0.5kg
E 2000g

'Eg-@pisgle wi’gh 40% off their original price.
count as a fraction? Circle the




% £9.74 cm.

The wheel of a toy car has a diameter O
What is the radius of the wheel?

Ay
Oy
6.  Aisling has a pack of pencils.

She divides the pack of pencils into eighteen groups of eight o ils. ;
How many pencils will be in each group if she divides the pack into six groupg;

Vi

Rohan measures the angles in four quadrilaterals and puts the results into a table,




A train travels 426.75 km in

3 hours at oty
9. How far did the train travel ; a constant speed

N one hoyr?
AREEL

10 Rebekah thinks of a sequence. T

he first five numbers are 101, 82,65, 50, 37.
" What is the next number in the s

equence?

elen makes chairs and sells them,

costs her £12 to make one chair and she sells each chair for £20. i
h expression shows how much profit (P) Helen makes if she sells n chairs?
e i(12,+ 20) C P=20+12n E.qP= 20-8s
P=28n D AP=00n-8

owing a smoothie recipe. The recipe uses 144 g of strawberries. 8
h enough strawberries to make /5 of the amount of smoothie made



Now for a break from 10-minute tests: 1Y ©

ut your skills on these Puz,
S,

/

Colin’s Cube Cages

W ; - aller i
Colin is making a big rat cage by attaching sm &
cube-shaped cages together. He first arranges St ;
Cube-shaped cages in the shape he wants. o >,
1 . - i !
Which of the following sets shows the views from dmmnodiEs o ed B
e
the back, the left and above the cage?
Set A: Set B:
HH H - HiH %ﬂiéﬁ ‘—:: 'E"H
Hess e o = :
Back Caid Back Left Above
Set D:
= i T R
Left s Above Back Left Above
Pip is a secret agent and has been assigned a 4 X-
one-letter code name. She has been given a 3 =L |
set of coordinates to work out what it is. > |
B e | ) ¥ Fa 3 -
Plot the coordinates below and join them in 1 —
the order listed to find out Pip’s code nam
Tt OO B —+# -3 42 11 Ol 2 3 1)
3 o P WY w1
: , —3) -2 St
o v}i —3 - 1




;
i
&
%
.
:

A  Parallelogram
B Trapezium

C Rhombus

‘D Octagon

‘ Hexagon

he time is 1_6:14. Ciara has missed her train by 20 minutes.
Vhat time did her train leave? Circle the correct option.

16:34 S0 E 1536
16:04 D 16:00

,‘ing a large pair of compasses to draw chalk circles on the playgroun.d‘
 should he set the pair of compasses so that he can draw a chalk circle
meter of 1.3 m? Give your answer in centimetres.

compasses ~ - T

somach ot e

| I ,_ﬁ.”‘ﬁ{g M’), Zig ;;‘,{_;«.,;,{;\" :'3:'13} TN




stic fencing that was used for Zone p it

4. Maisie wants to re-use some p|a festi\/al
16 m Area of Zone P = 64 m?
Zone P l4 m perimeter of Zone P =40 m

which has the same areq 4

She wants to use the fencing for for Zone Q g coul {570 nc O Zon, :

‘ in
but a smaller perimeter. Which of the follow
Circle the correct option.

15 m
5m E [
D 8 m
g 8m 13m
]

hanges the answer to a calcy|y

Kelly and Jonah want to see how using brackets ¢ L 6) < 8

Ke lon
. . :
lly finds the answerto 5 + 6 x 8 — 7. Jonah finds the answe

, .
cwers to Kelly’s and Jonah’s calculation,

i: 1 | m
c‘-‘k-’*ll:"v, 2 ! A

£

ame answer as Kelly’s calculation,

5.  What is the difference between the an

6.+ Circle the cal-culation'tha}w'i‘ “ﬂG
e AL (B 60 SIS

E B8 < 6 -7




& jje has a large packet Containing 1605

1/ of the packet,
d sp“ts these sultanas equally b ultanas. She measures out /5

etween three bowls.

| 9 what fraction of the large packet js in each bowl? Circle the correct option.
! o )

A 5 B 1/3 3 1/5 B E S

(e

(0. How many sultanas are in each bowl?

| {wf,t of a bus ticket depends on t

he number of stops you are travelling through.
hown on the graph below.

& B
FN==S==c=
= et
o) 2 —
@
.éé 1
; " — 0
‘3,“ 2468101214

Number of stops

O for her ticket. Jane is travelling thsee more stops than LtZ». ‘
hould Jane pay? RGO 4 Sai AR S i s




You have 10 Minutes to do this test. Work as quickly and accurately a5 You Cap

Kim saves 20p coins. She wants to use some of her coins to pay her bil| j, .
which Comes to £4.73.

1. Whatis £4.73 rounded to the nearest 20p?

a uy
2. How many 20p coins will she need to pay the bill?
22

When Benita starts work one morning,
her office clock shows the following time:

By how many degrees clockwise will the hour hand have
moved by the time she finishes work at 18:00?

4.  Pete’s shopping receipt is shown belo: :
Use estimation to work out the
Circle thézgorrect-)tqm ; 1 th

O
o

s

B £11.05
- £13.98




nes works in a shop selling b 8ames. He s

stacking boxes of games.
~ james makes a tower of 15 identicq] _ :
o4 {Nhat % the height e b cal boxes. The tower is 1.8 m hlgh~

0x?¢ Circle the correct answer.

R 12:cm B 14c¢m C

16 cm D 18cm E 20 cm

o

Y

120 cm

es four identical triangular-prism-shaped boxes on a table.
below shows the view from above the table.




: e street go up in twos, and are
9.  The house numbers on Jake’s side ofith < it is at one end of the streer, l Odq

Jake’s house has the smallest number, a h
ouse 10 do
If Jake lives at number n, what is the number of the Ors dowp,

Circle the correct option.
A n+10 c At ]
B 10n D, ks

BRI 00

10.  There are 16 ounces in a pound, and approximats!l)’ zi;gnlsnafg iOUnce.
Use estimation to find approximately how many Hog N One poyny

Circle the correct option.
A 0.448 kg c 1.75kg E 448kg
B 1.48kg D2 2uke

The pictogram below shows the number of each type of home in a village.
There are 500 homes in total.

Terrace | 55 5B BE 55 52 52 &S e
Cottage |ER =
Semi-detached | BH 55 55 55 BE BH 52 52 B=
Bungalow | BB B BN 55 &8
Flat |GR M Key: Bl = 20 homes

are built, how many more flats
get?

.

11. Bert wants to display the inﬁofmlaizi’an;m@;?ie chart.
: "7‘§¢oﬂage’ sector?

What angle would he need to use fo

E. . 150

/12

not to be photocopel



One day in winter, the lowest tem
country was —13 °C, and the high
petween these two temperatures?

Perature recorded across the
est.was 5 °C. What is the difference
Circle the correct option.
& 5°C B 3°C Gt faea D iace E 52C
o

roup of friends are making a shelter by putting a sheet of canvas
or a wooden frame, as shown in the diagram below.

wooden frame

rectangular
canvas sheet
over frame

angle with the ground

the area of the canvas sheet?

A




0.48 kg. 8
s of the remaining bunch?

O'mkg

5. Abunch of 6 identical bananas has a.mass of :
Sally eats one of the bananas. What is the ma

drew the bar chart he|,
t numbers on the scale.

Bella, Tilly and Xan raised £100 in total for a charity. They W tg 1

show how much each of them raised, but they forgot to pu

Money
~ raised (£)

le the correct answer.




e —

ar 6 class are making a bogk

i :%{ Ort stories they have written,
There are 350 words on each Page of the book

6 dwhe book will have 270 pages for the storjes.
How many words will there be op, these pages in total?

e

auren has written the I_ongest story in the book. It has 8050 words.
ow many pages long is Lauren’s story?

of 0 Jac)

s of two positive whole numbers, X and Y. Y is bigger than X.
gether to make 17, and multiply together to make 60.

joption that gives correct equations for X and Y.
P—17 and X'= 60Y

CRR L el
' ol Ao iy Kb i

o ]

SETI VRS B OTE T S

1



kills on these PUZZ|e,

out your s
Now for a break from 10-minute tests- T

Pint Sized Problem

Mimi has a container with exactly a gal‘Ion(()
She needs to measure out 1 pint of the emeasuring 0
empty containers with no scales, and nom

8 pints) of lemonade.

nade but she only has anothe, -
uipment. :

holds exact| :
One of the containers holds exactly 3 pints, and the other cty 5 Pins.

O Q
8 pints 5 pints 3 pints

WQQ

How could Mimi measure out 1 pint of lemonade using only these containers

For example, to measure out 2 pints of lemonade, Mimi could:

* Fill the 5 pinz container from the § pint container.

*  From the 5 pint container, fill the 3 pint container.

This leaves Mimi with 2 pints of lemonade in the 5 pint container.

Then try this one:

How could Mimi split the gallon of lemonade exactly in two using
only these containers? g

oy P,

i 355




Test 29

; ha\'e 10 minutes to do this test. Work as quickly and accurately as you can.

sok about space contains the following sentence.

The diameter of the Earth is 12 756.32 kilometres.

in the number 12 756.32, what does the number 1 represent?
Circle the correct option.

A ten million C one thousand E one hundred thousand
B one million D ten thousand

is the Earth’s diameter rounded to the nearest hundred kilometres?

[ B )

building a shelf to store her six boxes of breakfast cereal on.
1 box of cereal takes up 30 cm of the shelf’s length.
is the minimum length that the shelf can be, in metres?

J L Jm

orating socks to sell at the school fair. He buys 100 pairs of socks
‘needs a piece of ribbon and a bow for each separate sock.
bon costs 7p. Bows cost 5p each.




) between July and Dece

¢ in mm
The chart below shows the monthly rainfall total (in ’
for a city in India.
300 : ==
€ L ——
£ 250 -
g 200 s =—r—
315058 B e e
AlLE: = E e
501 | =
ﬂJuly Aug Sept Oct Nov Dec

mber?

2. How much more rain fell in August than in Dece
Give your answer in centimetres.

B

- What fraction of the total rainfall for the 51x months fell in July?
Car«cle the correct option below A

n the shelter?




b thinks of a shape and
e coordinates of the sha
at is Kem'’s shape? Cir

pl’ots it onto the coordinate grid below.
P€'s corners are (2, 4), (4, 2), (-1, =3) and (=3, =1).
cle the correct option.

Rhombus = H
4

Square a
fo)

Rectangle [25% 2

Parallelogram 1

Trapezium SHBEHo 1234}
2

: uc;‘tion., Asanti buys fifteen chairs for 30% of their original price.
ir originally cost £48. How much did Asanti pay in total for the chairs?

oir gz(f;;illection can be divided into groups of 3, 6, 7 or 14 coins
coins being left over. Which of the options below could be

c 280 E 300
D 294

afnsz a0l a0l wEly i
& 2 el wgls




uickly and accurately as yoy o

You have 10 minutes to do this test. Work as q

1. Lily is drawing a square on the grid below.

A

8

2

O0% o iis coiie Uk x

Lily has already plotted three of the square’s corners.
What are the coordinates of the square’s fourth corner?

O

2. Anika has saved up 1400 one pence coins in a jar. She exchanges them at the
bank and uses the money to buy a sandwich for £3.50 and a coffee for £2,
How much of the money does she have left?

A 5 , ‘:‘.w ” '}.;;}éi’&if 4 .": £m.m

3. 89 cards are dealt out so
cards ]eﬁ—_ over

|

s

ime number. There are five

=3

B 10

it to make a rice pudding
eft in the container In

| 5t ph(}[()a]pied



me friends make statements about the set of numbers,
le the incorrect statement.

2/5 of the numbers are odd.

iggest numbers together gives a square number.
Four is a factor of two of the numbers,

Adding the biggest two numbers to

gether gives a multiple of 33.
Three of the numbers are prime nu

mbers.

ewspaper report.
village are:

£125000, £150000, £75000, £200000




pefore his mum gets hom

9, ?avin has twenty migut“js g‘? i%tg;g szt‘siﬁigﬂ;[:he Cﬁ;lizv?gf:?oo;;ﬁ: Me
v!\'fc::\z;ﬁvr:‘g)r;e ?;f&?nvéhai fraction of the t.ime d rest
of the washing up? Circle the correct option- X 7/]2
A 4/5 C 2/6
B Dee 42
10. Shona and. Eric have 252 sliigs between them- Eric has 6 times as many

does Shona have?

stamps as Shona. How many stamps EE

ok below.
Huw is buying carpet for his L-shaped living roomm shown

—4

Not drawn

5m
accurately

3m

v

—— <

<
~

11. He chooses carpet costing £15 per 1 m2. What is the total cost of Huw’s carpet;
Circle the correct option:is 0 St SEHENEEEES I SES

Ay “£105

BRL275

B £345

104 - 0.01

/112

ot to be photocopet




have 10 minutes to do this test. Work as quickly and accurately as you can.
The area of a classroom flogr is 72 m?. The teacher splits the classroom
I o six equal zones. What is the area of each zone?

The bank balance of a millionaire is £44 670 980. In this figure,

~ what does the number 6 represent? Circle the correct option.

A 6000 C 60000 E 600000
B 600 D 6000 000

Nimishi has an ornament made from coloured cubes.
, face of the ornament shown below has a perimeter of 45 cm.
/hat is the length of the side marked on the diagram?

|, 24 have the same first name as one other girl.
| have the same first name as another girl?

Test 31



Ork

.l s 135 npocs oy R L
Her sister Flora helps for four times as long an hge o O
pocket money. How much pocket money dothe g -

6. Kim is planning a tiling pattern for her kitchen wall on a coordinate grid, 4 Show,

0

She translates tile A two squares left and five squares up.
How many lines of symmetry does her new pattern have?

%

b
,
3§
¥

Pél-ﬁﬂ% tests, | s mean score was 16

t st¢ Circle the correct option.
B 17

rd. Each box contains
ind Gary takes eight.




thinks of a sequence. The first f

ive n
is the seventh number in the umbers are 1.45, 1.9, 2.35, 2.8 and 3.25.

sequence?

Jade’s jewellery box is attached to the box on one side.

~ he lid from opening too far, the lid and the box are joined by a chain.
side views of the jewellery box are shown below.

- 17 cm
A
20° chain
d 22 e - 20° not drawn
X accurately
v
Top view of closed box Side view of open box

s the area of the top face of the closed jewellery box?
the correct option.

e C 374cm? E 304cm?
D I50:em?




ills on thes
Now for a break from 10-minute tests. Try out yout skill € Puzzleg

Coin Conundrum

Sam has six coins and a chocolate bar in his soclf.
Use these clues to work out the value of each coif-

e There are three different values of coin.

* Four coins have a value that is a prime number.
e The total value of the coins is between 50p and 60p.
e You can’t make exactly 30p or 50p with the coins.
* You can make exactly 40p, 42p or 47p-

VWild Animal Weighing

Lucas has some plastic animals.
He finds some sets of animals that weigh exactly the same.
How many giraffes should replace the question mark to make the scales balance?

___.,/
R not to b(b pho(uC“PA

P



1
au stad

A0

. phat we
ion).

C

& eskis The 92
50.5h;3m
' 5l

B C
i incorrect beca

i ~
diing poo

jum had
re ;;llled during the ma

|fof thed

e ot enough. 10
e 30 litres, W

) and E will also

75542 - 4201 =71 341
tch (use column

me length as 5.5 pens, 50 the desk is
5 cm long.

iameter. The diameter of the
2 = 50.5 cm (use partitioning).

use 6 x 13 = 78 litres of water,
buckets of water contains

hich is too much water, so

be too much. 9 buckets of

: i — 1% =117 litres. & buckets
g :'1 % = 104 litres, which is not enough to
|. S0 Zola's dad needs fill the bucket

2 minimum of 9 times.
position of the gr :
following each 3
6 <
+the only option i}
. not overlap with 4+
% or woodland. ]
j 2 -
- |
0

g

is

lue stringis 121+ 11 =11 mlong.
er string is 96 + &= 12 mlong.
hgis 12 — 11 = 1 mlonger than each
Nt 100 cm.

string balloons is s, then the
balloons is 2s5. S0 30 =5 + 25 =
10 silver-string balloons for 10 x
20 blue-string balloons for
made £30 + £40 =£70.

ple in the shopping centre are
/qo of 4550 is

f4550is 455 x 2 =910.
50. Use partitioning,
SO00, 4x 10=40.
the shopping centre

nts. The
. -5 to

11.  £545

1 OOp =E S,
Sabah gets 1 Ozgop b £O7O

pocket money, 6x0.7)

L2550 9

The pocket mon
6 £9.65 - £ 1 S%Ehagsabah gets f

. = To -
chores that she did, diVi.de - To fing th;” domg Choree

= 1.251—4‘2:.&54
45

for doing cho the am Numbep

chore: 8?_40 _r%s ,’;3(’) the ?mQUNt Shi;u Etshe 9835?:1;0

chores, Y Which s the sarrgw ;ng'" doing eact
LTSN

Test 2 — p,
1. 4152p Bes o7

2, 17

3. D

Jacob has made 110 - 30
; =80 ch ;
80 o
g?Ok'fs' 90 “"/140 of the cookies ar‘ecc?}"lizzgh,p :
imp nc_y the fraction by dividing the nume te chip,
denominator by 10: 5/1 S rator and the

4. 132 cm

1 i = 00 G, &9 5 2 =126)

; . = cm. 10%
120+ 10=12. So Sierra’s height has in
il 2% So Sierrais now 120 + 1 =%

g. ; 1 hour 30 mins
achinterval on the chart is worth aqua
: rter of
= 15 iz, Fronj the chart, Alicia wafsqL at the t?e:cnhhour
frgm 12:30 until 15:45, which is 3 hours and 15 mins
\4\/.:11 was a; zhg beach from 13:00 until 14:45, which iq.
our an mins. Find the difference b ’
two lengths of time: o e
1 hour 45 mins + 1 hour = 2 hours 45 mins.
2 hours 45 mins + 15 mins = 3 hours.
3 hours + 15 mins = 3 hours 15 mins.
1 hour + 15 mins + 15 mins = 1 hour 30 mins.

6. D

Eli left the beach at 16:45. 60 mins = 1 hour, so
90 mins = 1 hour and 30 mins. 1 hour before 16:45
is 15:45. 30 mins before 15:45is 15:15.

From the chart, Maia left the beach at 15:15.

7 D

Option A will make 18 + 3 = & cakes, which will give
6 x 8 = 48 slices. Option B will make 45 + 3 =

15 cakes, which will give 15 x & = 120 slices.
Option C will make 571 + 3 = 17 cakes, which will give
17 x & = 136 slices. Option D will make 57 = o=
19 cakes, which will give 19 x &= 152 slices.
Option E will make 60 + 3 = 20 cakes, which will give
20 x & = 160 slices. So Michael needs to bake

of 120is
Creased by
2cmtall,

57 sponges.

© CGP 2017



£149.50
. itioning, £1.15=£1+ £0.15. 130x £1 =

=650p 30 x 15p= 1300p + 650p =

5
130 %P 21 9.50.

0 Miah;el makes £

o
9. [
& in a regular nonagon are equal, so each angle
ﬁ"gﬁllzard@" i5 140°. Angles around a point add to
!

%60°, 90 anglea must be 360 - (2 x 140) =
260 - 280 = 80°

: 130 + £19.50 = £149.50 in total.

50 23 x length=4140 cm.

C .
on has 23 sides,
hich is too small, so options A

10.
rd
;h;gi 00 = 2300 cm,w
incorrect.
3";)(5;660"1 2300 x 2 = 4600, which is too big, so
gpﬁons D and E are incorrect. So option C must be
correct.

1. C o .
Work out the height ot one triangle.

Area= /2 x base X height.

21 = 1/, x 0 X height = 3 x height. So height =7 cm.
The tower i5 3 triangles tall. soitis 3x 7 =21 cm tall,

12. 28
substitute 7 fo
of triangles in the towe
56+ 2= 28 triangles.

Test 3 — pages 8-10

1. 23

The number of spots on the opposite faces will be:
7~2=5,7—-5=4,7—4=5,7— 1=6,7-2=5.

So the total number of spotsis 5+ 4 + 3+6+5=23.

2. £24
Use partitioning, £4.80=£4+80p. 5x4=£20.
5x80=5x85X 10 = 40 x10 = 400p = £4. S0 5 mof

fabric costs £20 + £4 = £24

3. B
The areais length x width = 1.76 m x om.
1mx9m=9m? 2x9="18m? So1.76mx9mis

between 9 m and 186 m. 15.84 m? (option B) is the only
value which falls in this range.

4. D

100% - 16% = 84% of the people didn’t win a prize.
1% of 200 people is 200 + 100 = 2 people.

5084 x 2 = 168 people didn't win a prize.

5. D
Work backwards to find the number that Selinais

thinking of: 52 -3 =49. 49 =72
So Selina was thinking of the number 7.

6. 11

In the first two tests, Rhiannon scored 17 + 135 =

30 points. Inthe last two tests, she scored &+11=
19 points. So she scored 30 - 19 = 11 more pointsin
the first two tests than in the last two tests.

7. E

The total number of points for all 6 testsis 12 x 6 = 72.
The total number of points for all of the known tests is
17+13+14+ 8+ 11 =63. SoinTest 3, Rhiannon
scored 72 - 63 = 9 points.

MWXPD2E 1

r n in the expression to find the number
r7x (7 + 1N+2=(7x8)+2=

015 = 15£=11Op+5p. 130 x 10p = 1300p.
. 50

% . 4800 cm?
e blanket is & patches lon
length of one patchis 160 cgr: zdaﬁnggcxs ?ﬁde\;ngr
. The hof

onepatchis 96cm = 8 = 1
i820x12 =2 x 120;_242‘060':";2%3!‘62&0115;)3“;‘

The e are 20 Wh"te atc"65 S0 the (;(H;a ar‘eaofthe
’f r s
cme,

T9. 150°
here are 12 handles on the s i
tee

be;;zve:n ggg?;bouring handles is ;&ngfwﬁ?'é%ge a;‘ g‘e
= 3°, 50 + 12 = 30°. The black handle at the
:asjeens turned clockwise to the pos’rtiirr‘rdoi iﬁetmp

andle. So the captain tur i
kil pt. urned the steering wheel

JVO. £18.60
'ork out how much money Phillipa was gi

given each day:.
Monday = 60p = £0.60, Tuesday = £0.60 x 2 = f,?]yzo
Wednesday = £1.20 x 2 = £2.40, Thursday = e
£2.40x 2 =£4.80,Friday = £4.80 x 2 = £9.60.
So Phillipa was given £0.60 + £1.20 + £2.40 + £4.80

+£2.60=£18.60.
11. £3.05

Sabina's sandwich has two main fillings, two salad fillings
and one sauce. So her sandwich costs 1.25 + (0.5 x 2)
+(03x2)+(02x1)=125+1+06+02=£3.05

12. B

David wants a sandwich which has two main fillings and
one sauce, so this will cost 1.25 + (0.5 x2) + (0.2 x 1)
=125+ 1+ 0.2 = £2.45. This means he will have
£3.50 - £2.45 = £1.05 left to spend on salad filings.
Work out how many salad fillings he can get for £1.05:
£0.30 + £0.30 = £0.60, £0.60 + £0.30 = £0.90,
£0.90 + £0.30 = £1.20. So David only has enough

money to afford 3 salad fillings.

Puzzles 1 — page 11

Penny’s Packing Problem

Nanny Carol’s Cakes
Cake 1: Adam. Cake 2: Clive. Cake 3: Bill

Cake 4: Ed. Cake 5: Dave.

Test 4 — pages 12-14
1. C

7 rows of 9 chairsis 7 x 9 = 63 chairs, not 60.
All the other options give 60 chairs.

2. 72
1/, of 54 = 54 + 3. Using partitioning: 54 =30 + 24

20+3=10.24+3=6. So54+3=10+8=18.50
there are now 54 + 18 = 72 people working at the shop.

© CGP 2017



12. 16.8 '

-he top cube. Add up the total numper £
e & youwmontyseethetor?faceo” P board: 31 + 19 + 15 ., 12 daﬁ ;
S 5ectipn9. 50 to find the mean:]&ﬁi Mts, 110
landed in each section divide theu‘y_”“’?” OF g © are
by the number of sectiong oh Lhetutas Numpg 2 th
84 +10=8.4, 5054 5 2 prne rt g o
Ax2 <048

width x length x height = Test 5 — pPages 15-1 7
& cm?. There are 13 blocks in the model, 1. D

3 s thas |
+ 12 5 hﬁ; ‘m’ﬂ?’led_

zxﬁzlextatalzs volume of the model is 13x8&=104cm’ £349 950 = £349 0
S0

calve 349 000 is three hundred
ool e 950 is nine hundred and e ot

e 2, 6) is three hundred and fo

00 + £950,

: Y-hine t} - 3
ﬁfty, So the pmcet:;::aﬁ
rty-nine thousand. r;‘vrpff

a

and fifty pounds.
o 2. 52.0 m

For the fewest number of
The bin, Miriam should carry 3 x 3 by
2 bags, which is 4 loads of bags. To

E bags to the bin, Miriam would walk 8.5 m ang +1
SR 1, back to the house, whichis 6 5 M+65 ‘awb;:er 65m
Rmzif?;,:n;:;oordinaw 2.6) total. So for 4 loads of b B

A
UNdre 4

Trips betwe

e the hoyse .,
95 & 9 baa@ n :‘
Carr'ygnei

0ad of

(¥} DN

C

ags, she will walk 13, ,

X4 =59

_ B3 A P

ht of both rectangles using the given areas 40% + 5O%°= 9 O%OO‘C the 50Ngs are rock ang POD, Whick

5045 leaves 100% ~ 90% = 10% of the songs whif "1
“The width of the bottom rectangleis 3 + 9 = hip hop. 10% of 550 = 550 + 10 St

=55 hip h
4. 13.5 cm?
The volume of a whole cube of ch
=27 cm?®. So the volume of one

Op songs

€e5€is3x3x3=9,

(G3)

i piece of cheese is 27 .
5. 160 cm
The edges of the cube are e Aem -
equal. So the vertical side e
of the cube faceis 15 cm. 15 ch I
. So the sum of the heights
icity has earned of the cube and cuboids is I 5 em
i 15cm+20cm=35¢cm. 20¢cm I
The length of the bottom
= cuboid is 45 cm, so the sum 45cm

of the lengths of the horizontal faces of the stack will be
45 cm. So the perimeter of the face of the stackis
35 +35+45+45=70+90=160cm.

6. 1 hour 16 mins i
Divide © hours and 20 mins by 5 using partitioning:

6 hours and 20 mins = 5 hours + 1 hour (60 mins) 1‘Lns
20 mins. 5 hours + 5 = 1 hour, 60 mins = 5= 12 rl:'ieo;:
20 mins + 5 = 4 mins. So Zachary revises eac@h :”Un é
for 1 hour + 12 mins + 4 mins = 1 hour and :

7. 0295k ,
i ‘?%em is 500 cmagmc flour in the contame5r.950 the
the flour in the container is 500 ><90_v i
000 % 0.59 = 590, 50 500 x 059 =95 7 g5
98 4. 1000 g = 1 kg, 02959+ 1000=

mass




-

S

(T —

9. 255 ":-,Print, Jessicaruns (30 x 2) - 15

Oﬂa‘f 15 = 45 m. On the third sprint, she runs

=60 2)-15=290- 15 = 75 m. On the fourth sprint,
(45:m5(75x2)_15=15o-’15= 135 m. Onthe
ﬂd‘% it she runs (135 x 2) - 15=270-15=
Z55m

10. B S
£480is £480 = 10 =£48. 5% of
O £45 - 2~ £24. 035% of £480is
L £AB+£4B+£24 = £166. Marcel gives each
£45 | amount, 50 he gives each friend /5 of

£168= % + % = £56 (using partitioning).

&k D

ants onday 1 reads from 14 to 39, s0
gg.ﬁr I‘: 25 ants were collected on day 1. The bar for
mm&yZmadsﬁotho 28,5028 -8=20ants
were collected on day 2. 25+ 20 =45 ants were
collected in total. S0 25/, ants were found on day 1.
Simplify the fraction by dividing the top and bottom of

the fraction by 5: /o

e 262

K off the chart, there were 14 spiders and

39— 14 =25 ants collected on day 1. So the total

2 Wofantand spider legs was (6 x 25) + (& x 14).
ing, 6 x 20=120,6 x5 = 30, 120 + 30
= 1! antlegs. 8x 10=80,8x4=32,860 + 32

112 spider legs. So the total number of legs is

=112
: dﬂ* m 262 legs.
P Jes 2 — page 18

‘House
out of the house is:

‘,—_..
sar U

> — pages 19-21
; 7 = 21 ice cubes in the tray. She drops

Lo share between the 5 glasses.
z ‘iﬂ&aoh glass.

Sk b g "

‘ %m-—-'l&O m.

st S
B ymhare B
? T e B

0-1600m

? Dfsbanoe run (km)

5. 80

The person with the highest total score will also have the
highest mean score. Total scores are:

Ana: 160, Baz: 105, Cat: 159, Dil: 159, Eve: 154.

50 Ana has the highest mean, at 160 + 2 = 80 marks.

6. 50%

The increase in Baz's score was 63 - 42 = 21.
As a fraction of his test 1 score, thisis 2 /4,.

Top and bottom can be divided by 21 to give /5.
'/, = 50% as a percentage.

it £0.05

To multiply by £1.99, multiply by £2, then adjust:
BEEE 99 = (BRdA2 0O (BaaL0.C0 1)
=£10-£0.05=£9.95. Soif Cal pays witha £10
note, she will get £0.05 change.

8. 1.05 kg

Each special offer packet contains 40% of 150 g more
than 150 g of crisps. 10%of 150g=150+10=15g4.
40% of 150 g= 15 x 4 =60g.

So each packet contains 150 g + 60 g = 210 g of crisps.
Cal buys 5 special offer packets, so the total mass of
crispsis: 5x 210 g = 1050 g (use partitioning).

1 kg = 1000 g,50 1050 g = 1000 = 1.05kg.

9. E

From question 8, the total mass of crisps is 1050 g.
Using partitioning:

1050 = 25 = (1000 + 25) + (50 = 25) =40 + 2 = 42.
So each person will get 42 g of crisps, which is option E.

g0, £

A overtook B at the point where the graphs cross:

= 101 Ao

\xE’ 8_ _________ 1 B

SR} EEE R -

8 41

=

S

°

a — - . - .
% 10~ 20 30940

Time (minutes)
30 minutes after 10:32 is 11:02, so0 34 minutes aft.
10:32is 11:02 + 4 minutes = 11:06 (optionC).

1. B :
Dev ran 0.2 km every minute, so he ran 2
Neither runner A or B did this, so ne

—

=
® O




Test 7 — pages 22-24

1. £316 008 o
litting up the num ;

‘?ﬁr;e hugndeed thousand: 5({)8 ggg

sixteen thousand: 2

eight:

Adding th

2 42 hours i
re 24 hours in o :

‘!!‘h';gg Weds + 24 hours = 17:00 Thyrs

17:00 Thurs + 24 houﬁ =-0 '2) 7’::30 Fri

g0 32;2;%‘3&%; _ 6 = 42 hours until the flight.

¢ columns gives 3 16 008.

3. 7 o 5.2+125+125=65m(use

imeter =
mgmng). S0 7 rolls of fencing are needed.

4. 1.5 m?
The area of a parallelogram is base x height.2
So the area of the bed is 2 x 0.75 = 1.5 m*"

5- : B ' 52 =
The fraction that grow into plants is °</40. Divide top
and bottom of °%/40 by & to give */s, which is option B.

St

= ;16 x 31/, Using partitioning:

oOX /g)
(G x )-+1§/

@b;:inaheg (option E).

th the highest bar) is June, with a
k. The least sunny month (with the
ber, with a cost of £200 per week.
ice is £550 - £200 = £150.

shows a cost
uly (£300) and
nths, May has
Fsunshine (45). So

12, 6
Try different pairs of ny

: mber
see which comes to £3 %2

fm
3 e
1melonand 2 x 1 =2 ,ifne?r’):

=90+60=150. 5ot (90x 1
2melonsand 2 x 2 = 4
=180+ 120 =300, 689 thie o2 X
2melons+4limes=6inog’£zlxst

Test 8 — pages 25.27

1. 121
Find the humbers on the cards which,
i ca

81,49,121, 100. Dami
b,
P 07:25 ghesy

Working backwards, she heeds

minutes before 0&:50, which istggfgg the house 25

up one hour before this, which ig 07'.25 She needstao
2 et

3. N
360’ s a full turn, so he will stj| b
o - o - e f i
two 560° turns. 90°is quarter of aatc&:g East afteryy
facing North after the 90° tyrn, . 50 he be 5

4. 40
1 litre = 1000 ml. Find 1000 - 25

(0(0)s
1000 + 25 = 40. The bottle will last fo,«ao ifez 4,50
S
D D :

Ais incorrect because 9 x 21 - 1 =
(O%x20)+(9x1)-1=180+9-1 =188
Bisincorrect because 9 x 23 - 3 — y
(Qx20)+(9x5)—3=180+27~5=204
Cisincorrect because O x 24 — 4 — '
(O%x20)+(9x4)-4= 160+ 36-4=21>
Dis correct because 9 x 25 -5 = :
(9'><.20)+(9x5)—5=’IBO+45—5=220
E is incorrect because 9 x 28 - & — '
(9x20)+(9><&)—8=’!80+72—8=244.

6. 9

The sequences are as follows:

)

a2l |slsTe]715]s
Jen 1 & |15 (22| 29|36 |43 |50 57
Ben | 100 | 93 |86 | 79 [ 72 | 65 | 58 | 51 | 44

So Jen's is bigger than Ben's on term 9.

7 C

For a team of 4 to have a mean of 7, the total of the
scores must be 7 x 4 = 28. The total of the five friends
i85 10+9+ 7 +5+4=35. Sothey need toleave out
the person with a score of 35 - 28 = 7. Thisis Ash,
which is option C.

10 minutes :
mperature needs to rise by 17 °C + 3 °C=20C.
take 20 + 2 = 10 minutes at 2 °C each minute.

be stacked 2 high (with a gap of
cm = 2 cm), 3 wide (with a gap of
= 2.5 cm) and 30 + 5 = 6 deep
26 atotal of 2 x 3x6=6x6=

© CGP 2017



15 : :
s for their ages:
10. e values 10, Jean will be 50 + 10 = 60, so total
—~ 70 — too low.

wh ERAO+ 60 ”‘20’ Jean willbe 50 + 20 = 70, so total

when %g‘gn%’g; 90 — too high.

5= s 15, Jean will be 50 + 15 =65, so total
av?hgn :{051":""%'51 80 — correct.
a9e=

e C w 15 and Jean is 65 (from the answer to
Johnny 15'?8). So in ten years, Johnny will be 25 and
uestion 5. S0 Johnny's age will be 25/, of Jean's

7
;ﬂ\,‘izz top and pottom of the fraction by 25 to get
e.

e option C.
gnghloh is op
12. 2 le. the width is 1.5 times the height.:
%ﬁﬁingch, 15 S cm= 12 cm,

|5 % 10cm=15cm. So the width of a photo of height
1’“5-{ 5xx=1.5x, which is option D.
Feails

 puzzles 3 — page 28

Old Problem
(whois lying) is 11.

Bl

save the Date
5 ﬁglg““ June, Nina will have 150p + 155p + ©p + 12p

+24p+50p+56p+42p+48p=521p
e

E
© of the given options, only the net of a triangular
n (option E) has 2 triangular faces and three

angular faces.

one left out when divided by 2 or 3, the
eeds to be a multiple of both 2 and 3, between

9}

loF 2222, 24, 20, 2.5.
sof3:21,24,27.

¢ only humber in both lists.

from largest to smallest. the masses are
g (Bob). 7.191 kg (Betty) and 7.099 kg (Bill).
D gives the correct order.

> can be simplified to %/, except for
lifies to %/ (dividing top and bottom by
n D) eats a different amount of pizza

ds is the total divided by 5:
165 )+5=800 +5,

z}; 108°
ere are 5 equal angles inside a regul

first ;angle (and the others) musg l::gz,al:J i ntina -
540°+ 5 = (500° + 5) + (40°+5)=100"+8°= 108",
8. 4

The area of the re

ctangular wall = wi i =
10% 2.5 = 25 me2. g9 a Wldthxhenght..

1 tin covers 7.5 m?, so 2 tins cover 7.5 x 2 2
i ; : =15m2
Stinscover 15+ 75=225 m?, which is not quitrg

enough, so she will need 4 tins (which wi =
ey (which will cover 2 x 15 =

9. E

Both recipes have the same total mass, so an angle of 1°
represents the same mass on each pie chart. Recipe 2
has a greater angle for flour than recipe 1, so statement
A must be true. "/, is always represented by 90° on a
pie chart, so the angle of 80° for flour in recipe 1 is less
than 1/4, so statement B is true. Inrecipe 1, the angle
foregg = 360° - 240° - 80° = 40°, and in recipe 2 the
angle for egg = 360° — 160° - 96° - 64° = 40°. So
statement Cis true, and since *7/s0- = '/ (dividing top
and bottom by 40), which is greater than /4, or 10%,
statement D must also be true. This leaves statement
E. which is false, because /5 of 360° = 120°, not 160°.

10. 300¢g

In recipe 1, the fraction of the mass that is milk is
2407 s60° = 2/ (dividing top and bottom by 120).
/50t 450 g=450 +3 =150 g.
S50%/50f 450 g=2x 150 g =300 g.

1. D

The total time for the job in minutes = 25 + (nx 1) + 20,
which simplifies to 25 + n + 20 = 45 + n, which is option
D.

122 £7.50

2 hours = 2 x 60 = 120 minutes. Taking off the time

to get to and from the houses, this leaves 120 — 45 =
75 minutes to deliver leaflets, which is 75 leaflets at

1 leaflet each minute. So she would get paid 75 x 10p =
750p = £7.50 for the job.

Test 10 — pages 32-34

1 24 000 ;
The smallest of the three numbers is 23 500. Thi
rounds up to 24 000 to the nearest 1000,

2. 925
The largest number is 27 664 and t
i 26739. 27664 - 26759 =92
subtraction). <. 98

3. 700 R
From each sheet she can ct
100 sheets she can ci




- C 3
g‘l pint is 568 ml, then 11 pintsis 11 x 566 mi.

joning: 11 x568=(10x568)+568
B5‘5'?6509 par;bigéna 3 6248 ml. 1000 mi= 1 litre, s0
524& ml = 1000 = 6.248 litres, so she will need

7 livre bottles (option C).

g;acause?ihe scale doesn't start at zero, the second bar

nall fraction (%/4 1) of the first bar, whigh
l:t?:gs;g(g:tﬂt the percentage reduction in crimes is a
lot greater than it really is.

8. C
isi : i -500) +5=
Each division on the chart is worth (600 - 50
1 OGO + 5= 20 crimes. Reading off the chart:
Before the lighting improvements, there were 720
ime month.
;mfsgstgiighﬂng improvements, there were 540 crimes
r month.
ﬁls is a reduction of 720 - 540 = 180 crimes.
As a fraction, thisis "8%/750 =18/, = %/ag = /..
As a percentage, '/4 = 25%, which is option C.

9. 66 cm :

Each small division on the ruler is 0.5 cm. The broken
ruler has 11 of these small divisions, so measures

11 x 0.5 = 5.5 cm. The width of the desk is12 x 5.5 cm
=(12x5)+(12x0.5)=60 + 6 =66 cm.

i 5har6 3000 almonds between bags

’

2 56 litres

The tank is leaking at 4 rate

It takes 14 hours for th of 4 litrgg Eve
S0 its capacity must pe Z tank t, empt, ng hoyp.

=404+ 16 =56 Lreg, 4= (4x 10), Fetey
X 4)

3. £276 ’

Chris spends 79 + 65

S0 he receives 5,00 - 2?222055 224p- g5,

4. B i N chang& ’

10% of 70p = 70p+10=7

5 = X 5 2 o
2x7p=14p, Soth 2208 of 7,
70-14= 5%;9. ® reduced price of ChOCgI;:e b
af‘js
i 12 seconds

The sum of the four timesis 102 ,

48 seconds, 48 +4=1> 12'5”1,5
12 seconds. » S0 the mean timejs ~ ' 4=
6. 137.6 m

The diameter is twice the radius, so the diamete
rof

cricket groundis 2 x 8.8 You can y : e
(2x60)+(2x8)+(2x08) - it Partitioniny,
= 1376 m, ( )=120+ 196, 15

A 86 m

25%="/4. Y, 0f688-686 .
partitioning), so the new radius o
k2 =26 m,

8. B

Going forward in Darragh’s Sequence, the difference
between numbers increases by 1 each tim
number is 9 more than 34, the third Aumber is 10 more
than 43 and the fourth number is 11 more than 53
This means the fifth number will be G4 +12 =76, and
the sixth number will be 76 + 1% = 89

9. 3, 3)
The y-axis has an x-coordinate of O and the corner of
the square has an x-coordinate of -8, 50 the distance
between opposite corners of each square is 6 units.
So the distance between the centre of a square and one
:‘:"8 hgﬁ of asquareis 6 + 2 = 3 units. The point marked A
18 & units right and 3 units up from point (0, 0).
So the coordinates of point A are (3, 3).

Ay

4=172@%
fthe groundis gg g,

€. The secong

(-6, 6)&—9S

mber of voters increased, rather than fell%t;)é
fter online voting was introduced — ohﬂ e
arger numbers appear lower dowrn onthey

2 of window, so a2 200
A G/ﬂ:ﬁ g mgf=wzl:-1m2. This means
ap would clean 16 x 4 = 64 m”~.

4 19.99=
\in the formula: 1.2 x 30 +
% t‘hf-;g‘gs = £55.99.



—

Jest 12 — Pages 39-41

1. .15;12(, Cambridge at 11:25. Add 53 minutes

s time by adding 1 hour to get 12:25, then taking
i

72 A the masses to the same unit (g). 1kg =
Convert 25“;865 kg is the same as ©504.0.9kgis the
1000345' 900 gand 1.6kg s the same as 1600 g.
same

o the spade 19 the heaviest and the compost is the
iest.
second heavies

3 1.8 m2 ¥ ol :
< ic 2 triangle. so its areais '/ x base x height
%zx:’)x 12=3x06=16m>

A
%13 anglesina triangle add up to 180°. The sum of the

swo angles given is 90° + 35° = 125°, so the third angle
i5180° - 125°=55".

2.6_6&7E5 rounds to 87 s to the nearest whole second.
Chloe takes around &7 seconds to type 100 words, so
500 words will take her approximately 5 x 87 =435
seconds (use partitioning). So E is the best estimate.

6. 87.087 s

4 tenths = 0.4. Adding this on gives:
86.667

+00.400

o057
1

So Siobhan takes £7.067 s.

7 8.10 m

The mean distance of all 5 jumps is 8.00 m, so the sum
of all the distances is & x 5 = 40 m. Subtracting all of
the other distances gives 40 - (6.65 + 6.90 + 9.00 +
7.35) =40 -31.90 = 8.10 m (use partitioning).

8. D

/20f2130=2130 + 2 = 1065 and '/ of 2130
=2130 + 3 =710, so Branislav's total spend on rent,
bills and caris 1065 + 710 = 1775. This means he has
2130 ~ 1775 = £355 remaining each month.

SN C
The terms in the sequerice will all be odd, because you're
adding 3 to 2 multiple of 2 (which is always even). 256 is
€éven, so it cannot appear in this sequence.

go. 12

he 'other' sector forms a right angle (90°), so it makes
p /4 0f the the chart (360°). '/, of 0
). 60% of 20 musicians want to play
+10=2,5060%0f 20is 6 x .

-

Test 13 — pages 42-44

1. 33.28 °C

The values in order are 26.29
36.43°Cand 41 .74

2 45

Work through the multiples of 15 to seeif 3,5

S eif 3, 5and9Qare
also factors. The first multiple of 15is 15, but 9 s not:
afactor. The next multiple of 15 is 30, but 9 is not a
factor. The next multiple of 15 is 45. 3,5 and 9 are all

factors of 45,50 45 is the smallest number of CDs that
could be in Harry's collection.

3. A
1 litre = 1000 ml, 50 0.3 litres = 300 mil. So the total

volume of the cup of tea in mlis 300 + 25 = 325 m|.
Inlitres, thisis 325 + 1000 = 0.325 litres.

4. B
The side view is a quadrilateral. Angles in a quadrilateral

add up to 360", so angle x is 360° - 90° - 90° - 31°
= 149"

5. G

MMVII = 2007. The first film was made in 2007, so the
sequel was made in 2007 + 7 = 2014.

2014 in Roman humerals is MMXIV.

6. 1200 cm?

Convert all values to centimetres. 1 cm= 10 mm, so
100 mm = 10 cm, 200 mm = 20 cm and 60 mm

= 6 cm. The volume of one brickis 10 cm x 20 cm x 6 cm

; °’C.286.95°C,33.28°C,
C. 33.28 °Cis the middle value.

= 1200 cm®.
T 8, 3)
10%

2

0 2ré oGEeEE
Opposite sides on a rectangle must be p
equal length, so when drawn on the grie
(marked with a cross) will be at




B ‘ 50 = £4, and the
ic fare at night 1% 250+ 1.60=L4,

GTZZE aér kilometre is 0.50 + 0.25= f,kO.75. The taxi

travels k kilometres, which gives OBk

S0 in total the journey coste 4+ 0.75k.

Puzzles 5 — page 45

Board Games ;
Helena Bonham Darter wins with a scoré of 98.

180 is the highest score that can be achieved with 3

rts — with all three landing on treble ZQ. :
62‘?5 is the lowest score that cannot be achieved with a

single dart.
Test 14 — pages 46-48

1. E
You are rounding to the nearest hundred, so look at the
tens column. Thereis a & in the tens column, 50 round up

to get 32 600 feet.
i 22 km
Four laps would be 4 x 5.5 = (4 x5) + (4 x0.5)
=20+ 2= 22 km.
3. 42 minutes
> down the multiples of 7 until you reach one that is

ecofG. 7,14,21,28,35,42.
o both cars cross the start line at the

1%+ £14 +£12.10 + £2.30 =

is:
mﬁanaostisfft&éio+4=£.1 )

5,50%41i56 x5 =30 wins.
t win 55 — 30 = 25 matches.

105 455
ijggual sectors form a right angje (90°),50x o,
11. 136 cm
T asiegtn oo
The radius of the wheel is 64 + 4 ggecﬁdﬁ;nd

iame+

is twice the radius, so the di
6B 2 = 136.6m R

12' A
The sequence is as follows: 1, 1, 2

i, 2.8
21(8+13),34(13+21),55 (21?3%15(5%3.
(34 + 55). 144 (55 + 89). 144 is greatg’ %,
and the twelfth term in Luke's sequence Fthan 100

Test 15 — pages 49-51

1 10

4.ba|65 of hay feeds 12 horses, so 1

- bal . :
12 + 4 =3 horses. 30 +3 =10, s0 t;‘;ﬁ;‘xay feeds
need 10 bales of hay to feed 30 horses. er would

2. 7.0 °C
Lowest temperature = -2.4 °C. Hi < 2
Difference = 4.6 + 2.4 = 7.0 °C. ighest = 4.6 °¢

3. E
The face marked 5 will be opposite the star

the whole wh ‘Cler

eel is

4. 27 cm?
The total length of 4 facesis 12 cm, s

, S0 the length
1face=12+4 = o gt
273655. 4 =3 cm. Volume of cubeis 3 x 3 x 3 =

5. 180g

20/25 = */5 (divide top and bottom by 5). So Si

2/5 of 225 g of butter. '/50f 225 isyz.%é f?Ti%has
/o of 225 i6 45 x 4 = 180 g, e

6. A
The angle between south west and west is 45°
' B¥A
ona ?traight line (between west and east) add uprl:%'es
180", so0 Tracey turns 45 + 180 = 225° clockwise.

7. 8
It will take Alice 850 + 50 = 17 da [

ys to finish the b
(do 85 + B using short division). 25-17 =8, soeAliocoek
would finish the book with 8 days to spare.

s e
¢ B
11 raph, 4 km is about 2.5 miles. 9 x 4 = 36, so
WO 25=(9x2)+(9x05)=18+45
nearest answer is B, 22.4 miles.

50 Tony travels 180 kmin five

ol ‘?hsteV sts for 100 km, so 0.9 litres
) km = 100 km + (& x 10km),

+ (& x 0.9 litres) =




“'hﬁamafae are1,2.4.7.8. 14, 28 and 56
0 = are prime numbers. 56 ~ 2 =28 and 56 + 7 =
gg& is the minimum number of players possible.

12. c id £6.95 per hour and works for h hours,

Thﬂﬁd' gives 66?935):. 50% can also be expressed as '/,

,msmsamasdwwng by 2. So 50% of the tips is
2 Goin total the waiter is paid 6.95h + (¢ - 2).

S~

puzzles 6 — page 52

i‘l@dl through the swamp is as follows:
2.10.19. 28,36,43,52,01.

5 inside a triangle add up to 180°.

n angle must be a right angle as
on a straight line with another right angle.
Biaes thena= 1860° - 90" -53°= 37"

e chocolate bar weighs 50 g, so the number of
ate bars that weigh 1500 g is 1500 = 50.
s the same as 150 = 5 = 30.

119 minutes ;

bs at 3 '/, minutes eachadd 4 x 3/, =
3)+ (4 x /o) = 12 + 2 = 14 minutes to the
hof the show. So the total timeis 105 + 14 =

{100+ 5)+(5+5)=20+1=21 minutes.

225 +:5=(200+5)+ (25 +5)

45. So the second store has /5 of 225 =
O toys in stock. The third store has a
=180 + 4 = 45 toys in stock.

e

lengths on the diagram, as below.

5m

72 9 m?
Divide the sofa INto two rectangles
A4x15=6m? S0 the total a 0
s0fais3+6=9m

o

rea of floor co

8. 0, 3)

TN

| | G g } .
Plot the given points on the grid as above. The £

o 2 0 s e
point (marked with an X) must be at coord "::te;iii: 5
to form a kite shape. :
9. £14.44
10%0f£19=£19+-10=£1.90.50 20%0of£19
=£1.90x 2 = £3.80. The reduced price of the book
is£19-£380=£1520. Amy's voucher removes
another 5% from the price. 10%0f£15.20=£152
$05%of £15.20=£152 + 2 = £0.76. So Amy pays

o 52
e e
£1520-£0.76 =£14.44

10. £517.00
Use long division to divide the bonus of £9823 between
19 people, as below.

ol 7
1919623

95

32

e

e
Each member of staff would receive £517.00.

$1nn 64

Angles around a point add up to 360", so layer A

would give 360 + 15 = 24 slices and layer B would

give 360 + 12 = 30 slices. There are 118 slices of
wedding cake in total.so 118 - (24 + 30)=118-54 =
64 slices of wedding cake are from layer C.

2. h
George is y cm tall. Louise is 3 cm shorter than George,
50 the expression for Louise's height is y — 3. Duncanis
twice as tall as Louise, so the expression for Duncan's

height is 2(y - 3). B

Test 17 — pages 56-5
B e




a0 =600 + 10=60mi. 50 20% of 600 !
10%0fB00% = 0 of 600 mi =600 = 100=6mi

;ﬁxw-"':” » EW+120+6=726mL

thergare 12 -7 =5girlsin
— % = 4 girls in nature club. So there
club than nature club.

5 1
Read offthe
cluband 7 -
55 - 4 = 1 more girlin
6. 15 e §
Wﬂm’eam‘ld——&:ﬁg:riﬁm
M.ﬂ%gmmmmduh%mam12

» club, so half of themis 12 - 2 =6.
Mnm:ﬂ%"é+6=15mumnmiﬁnginwtal.

Sothereare &+

T B :
mmmommmmmmmm
:’%44.?”21\11 =44 Y, of44=44+4=11,50
'~5§¢f44=5x 11 = 33 children.

E

O

ve colours 50 g of fabric. 450 g is nine times
) g, 50 450 g of fabric needs 9 x 56.6

e during the first hour, 4 tiles during

T

v 39
Marvinhas 3 x 52 = 156 plaving ~=.._

partitioning). He divides tfen\: Ust:(ara:, (u
So each player gets 156 - 4 = 39
short division). i

3. B

1km=1000m,s505.5km x 1000 - ==

The total distance of Kevin's route in;ffd?oo o
150mis 5500 + 150=5650m 'ngadet-:urgi

4. 69°
Angles on a straight line add up to 180°
anglexis 180° - 111°= 6or.| |00 -0 the sigg o

5. B

The total amount of water used on Szt :
@x7)+(5x9)+75+(2x6) 14 N Was
=14+45+75+ 12 +4 =150 litres,

75 is half of 150, so Matt's bath was 50% of th
water used on Saturday. & total

6. 33 litres

A shower uses 7 litres of water per minute.
showered for 6 minutes on Sunday, which u'sedagtx 7
= 42 litres of water. SoMatt saved 75 - 42 . 23
of water by taking a shower instead of 2 bath

7 D

V/pof 128 minu%:es =128+ 8 = 16 minutes (usin
short division). “/g of 128 minutes = 16 x 3 = 459
minutes (option D).

8. 2100 cm?

The area of the base of the drawer is 30 x 30

= 900 cm?. The area of one side of the drawer is

10 x 30 = 300 cm?, so the area of four sides is

300 x 4 = 1200 c?. The total area of plastic used is
1200 + 900 = 2100 cmz.

9, A

The line is at its steepest between 0-10 minutes, so this
is when the hot chocolate is cooling down the quickest,
because the temperature drops the most in those

10 minutes.

10. 30%

The temperature of the hot chocolate after 6O minutes
was %7 °C. S0 as a fraction of its original temperature it
was /g0 Divide the top and bottom of the fraction by

9 1o give °/10, which equals 30%.
gl £2.10

\Use
€en four pi
Playing . 2Yers

J"n?, Ca'—dﬁ £

Se

litres

of an ice cream with marshmallows

- The price in
wmresslon ©65s + 15, where s is the

5coops. So three scoops of ice cream with
s costs (65 x3)+ 15=195+ 15
A

each scoop of ice cream, so the
of an ice cream with

ce ‘gﬁo)s

s + 15=55s+ 15.

another 25p, so the expression
gamis 555 + 15 + 25




Test 19 — pages 63-65
b 10Cbefore 50 (XL), and 3 is lll, 0 43 written in
ﬁfnf,in numerals i5 XL
m
" 1u§3int:>prder from lowest to highest are &9 bpm,
anm 98 bpm, 101 bpm and 112 bpm. The difference
= bpgr’x the highest and lowest valuesis 112 - 869

=23 bpm.
, cm
%;5&3;6323 2 om wide all the way around the glass, so
 ghewidth of the frame is 36 + (2 x 2) =40 cm and the
beights of the frameis 21 + (2 x 2) = 25 cm.
5o the perimeter of the outside of the frame is (40 x 2)
; ;;,;,(,25x2)=80+50= 130 cm.

glasls)is %6 om wide and 21 cm high, so the area of

> glass iS 26 om x 271 cm. Round 271 down to 20 and

estimation = 56 x 20 = 720. You rounded down, s0
2l area will be a bit greater than this. So the only
le option is D, which is 756 cm?.

67 miles ;

of the four maximum distances in the table is

8 + 75 + 84 = 268 miles, 50 the mean maximum
9268+4=(24O+4)+(28+4)=6O+7=

e the van can travel in one hour is reduced

84 - 12 = 72, s0 the van's new maximum
2 miles. 72 and &4 are both muiltiples of
1 be simplified to ©/; by dividing top and

30,5 =)

All of the angles in a regular hexa

50 the angles in a hexa i

~ Agie gon must add u %
=720 Thisalso a liestoi predoee
sizc ?f angleais 7 2%9" - 11)??5;?9; %h fx;%gons, gtz
720° - 660° = 60° gl e

11, 3:2

The printing compan i
: any uses 70 ink cartridges
mfnth, of which 42 are black, s0 the numg:r)oiafco,’ll
Ink cartridges used is 70 - 42 = 28, So the raT:i oufred
black to coloured ink is 42:28, Dividing bothJsideg gy 7

gives ©:4, and then dividi ; ‘
furtherto 3:2. en dividing both sides by 2 simplifies it

12,7 A

The company only needs to ay for half of th

colourgd cartridges as theypget the other h.;xehEj Erlg; agg
they will pay for 42 + 2 = 21 black ink cartridges and
28 + 2 = 14 coloured ik cartridges. Black ink
cartridges cost £b, which gives 21b. Coloured ink
cartridges cost £, which gives 14c¢. So the overall cost
in pounds of ink cartridges each month is given by the
expression 21b + 14c.

gon are the same size.

Test 20 — pages 66-68
1. 199 854

One hundred and ninety-nine thousand is written
199 000 in figures. Eight hundred and fifty-four is
written 854 in figures. Add these together to give
199 654.

2. 4
5 pupils said that they drink 4 glasses of water per day,
which is more than any one of the other responses.

3. D

There are 31 days in October. 2 weeks = 14 days, s0
add 14 days to October 19% in stages. Adding 12 days
takes you to October 31, and the remaining 2 days
take you to November 2.

4. 106°
Angles in a triangle add up to 180°, so the missing angle
i5 160°~ (37°x 2) = 180° - 74° = 106".

5. 38

456 coat hangers need to be
12 rails, so the number
be 456 + 12. 45¢ A




4. 35 cm ‘

g 75°
8 t add up to 360°, so the angle The sum of the four heights is 43 4 o
2
m

Angles around a poin :

betgwssn two oong‘;cutive numbers on a clock is =T140cm. Mean=140+ 4 - 35 i By

360 + 12 = 30°. The hour hand and the minute hand c e

are separated by 2.5 numbers on the clock, so the angle 5.  97.5cm

between them i 2.5 x 30 = (2 x 30) + (0.5 x 30) e Og Zj (Gm = 7.5 cm. S030% of 755

e _ 750 =22 use partitioni Scemig s -

R0 1B 70 mg7Bcm | ra)- Newheighs 5753
e con

6. 111
2 + 3 =5, s0 the total nump
185 + 5 =37 (use short div?

9.

B ’
The patio has 10 x 10 = 100 squares. Each chair takes

which take up a !
P rof ‘parts' i the r

up 3 5q1cuares, and there are 5 ghalg/s, i
total of 3 x 5 = 15 squares. S0 ' “/100 quUares ar z 4
taken up by chairs. The topand bottom of the fraction sweets. The chewy sweets mak?gngb 5; each 'parta' ;«;::75
can be divided by 5, t0 give /20 number of chewy sweets is 37 » 3 ; g irzﬁ S0the
EWy sy
1 0- 312 m 7' 80 ﬂ&e‘;s
m?, then the width Add up the totals of each bar.

If the area of the patiois 16

offtmustb64m(b@GZU5342= 16). The width is 11T+17+20+4+16 + 12=8OPUpils

10 squares, so each square must have a width of 4 + 10 8
~O.4m. The perimeter of one chairis & widths of a %, Cl
uare, so the perimeter = & x 0.4 =3.2m. ‘a0 pupils voted for strawberri .
&9 per and the bottom of the fraction l;;% E(‘)V@e 1:2he top
which simplifies to '/s. give </,

11. £11.75

The expression for the price of a pizza in pounds is

1.25¢ + 8, where t is the number of toppings. Isaac zfte C

orders a g&:zza with 3 toppings, so the price is r turning 180° he faces north

(1.25%x3)+86=375+8= Sl israas 45° clockwise he faces north. 1 55?/2530?‘&2'" Turning
After turning 90° anticlockwise he faces w;5t5 "

S Ol - " i After turning 45° anti i
has £17.50 for a pizza, which leaves £17.50 - £8 4 e faceo ooy,
pend on tgfpings, at £1.25 each. Trying 10. (4,1)
mbers of toppings: 7 toppings costs Plot the position of the three known corners
The fourth corner must be at (-4, 1) so that the Squa
re

« 7 =£8.75 and 8 toppings costs £1.25x &
chis too expensive. So 7 is the maximum has equal sides and right angles.

ld have on her pizza.
{ Bl e 2N
2 °\\
o s N
g 5 U
Y 4
: ol o
at the ends of P 1 S =
e T
P25

The number of people is 200 + 36.
You can use long division to find this:

2. B

Whennis £137.50, the bill will be 137.50 +

(137.50 + 10) = 137.50 + 13.75. Use partitioning,

MB35 =13+ Q.70+ 0.05. 137.50 + 13 =15050.

50 +0.7=151.20. 151.20 +0.05=151.25.
> bill will be £151.25.

les
nearest thousand, so look at the

is 7. This is more than 5, s0
4 000 miles.




, 3/.5 = /4 of the milk
need “/12 40
} kag " 3265:25. Zg;- S0 to make 3 pancakes you

o for 75 ml of milk.
rwdddgoa - 4

need ’
ool by the number of pieces
4. . f,h(; toval 'g"j—”'%h gz gach new strand of wool is
i = <
Engn %‘Z 0.7 m long.
4‘6 A

2
5. gsgq,eoth
B o1

= e

tal number of ‘parts'in the ratio
661?(;0 eaqh I pi ?hshsﬁr&tber of
6171 « sheep make up 2 Félr;b;:; e
Wzlzﬁaepi56x2=12bac :
plac

1 otball has an angle of

6 et o L ez g o,
120° out 05 1/, of the pupils chos;e fog%vgliz —O‘It‘l e
whioge':‘z?‘;upils who chose footballis 35 +~ 5 =11.
Aurm

A ; ime by the number of times
- waiting time by -
Zdulﬁp‘y jine meiziga spends 13 x 5 = 65 minutes
spert wam:’;%- the week. 60 minutes = 1 hour, so
walting A7 1 hour B minutes.

65 minutes =
47.5 m* 100 = 380.
. o251 518
The area Oofﬂf “éi";e:ﬁx 5 4 95 Sothe

: @5’013.3 wall that has been painted is 95 = 2 = 47.5 m?.

‘ B ith eith |
i ere filled with either apple
2+ 04= 127060P'_3i % = 24 pies were ﬁlled.vyith
orcherry. 52/ vies had a blueberry filling. Divide the
bluet o the bg&?om of the fraction by & to give “/2s.
pa

0. 6cm 288 =4 x width x 12.
. th x depth. L
Lo Eejfgﬁ:s:ighom L ioton). 5072 ~ width x 12.

1o width of the box is 72 + 12 =& cm.

5 minutes
ofl\?@hf}]l gs+44 = 4, s0 in Week 2 Kelsey wapches
4 =12 hours. 25%0;1259?12+4=5,som
b 12-5= ours.
G ghf ga-ffl-".‘egividc 9 by 2 and then divide by 2
2~ 4.5 then 4.5 + 2 =2.25. Soin Week 4
y watches 9 — 225 =6.75 hours = 6°/4 hours
ours 45 minutes.

E .

; with 15 shirts and buys x new shirts.
rgifHe donates twice as many shirts as he
chis 2x. SoMaxhas 15 +x—-2x=15-x
> in his wardrobe.

— pages 76-78

acute angle. Acute angles are less than
is bigger than half a right angle

o M

8. 69 cm
The diameter is do

uble the radius
So diameter =

345x2 =69 ¢cm (use partitioning)
4. 9.6 km

1 mile=1.6km. So each week he runs 6 x 1 &

—tat : - k
partitioning, 1.6 =1+06. 6x 1 - Gkm. 6 :62 ZL)Jge
50966><k0 © =3.6km. Soeach week Dennis runs 6 + 3 6
=96 km.

S5 55 minutes

The trziin arrives at Oldtown at 09:1 5. There is one
hour (60 minutes) from 08:20 to 09:20. 09:15is
5 minutes before 09:20. So the train takes 60 - 5 =
55 minutes to get to Oldtown.

6. 50 minutes

The first train journey is 55 minutes (previous answer).
There is 15 minutes from 08:45 to 09:00, and

30 minutes from 09:00 to 09:30. So the second train
Journeyis 15 + 30 = 45 minutes. The third train journey
i5 50 minutes. The total length of the three train
journeys is 55 + 45 + 50 = 150 minutes. So the mean
Journey timeis 150 +~ 3 = 50 minutes.

Z3 D

500 - 160 = 340 (use partitioning), so
are fed in the afternoon. Divide the top and bottom of
the fraction by 10 to give ¥/, Multiply the top and

bottom of the fraction by 2 so that the denominator

i5 100: 9%/, 00. So 68% of the piglets are fed in the
afternoon.

8. C

0.49 kg can be rounded up to 0.5 kg. 0.5 x 340 is the
same as 540 + 2, which is 170 kg (use partitioning).
166.6 kg (option C) is the only option close to 170 kg.

9. 7

Work through the prime numbers, checking if each is a
factor of 91. 91 is odd, s0 2 is not a factor of 21.

3 x 30 = 90, 91 is only 1 more than 90 so 3 is not a
factor of 91. Multiples of 5 always end with a O or 5, so
Sisnotafactorof91. 91 =70+21,70 =7 =10,
21+7=3,9091+7=10+3=13. So 7 isafactor
of 91. This means that 7 is the smallest number of
cards that can be in each pile.

10. D s o

£1 = 100p, so £3 = 300p. :
For x hot chocolates, the cafe
Fory cups of tea, the ‘
So in total, the cafe m:

11. 350000
The least watc

340/ 500 pigs

). Only option C is between 45° and 90°.
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Puzzles 9 — page 79 12D
For h hours, Jordan earns 6,75 h=675
Difficult Directions taken out of his pay so subtract g ‘5 ' ,D” He has £
Rover's house is at square 7. 6.75h - 8, - 50 Jordan waq e
Test 24 — pages 80-82 Test 25 — pages 83-85
1. 11 . rras g B
Maya reads 20 pages each night. So it will take her onvert all masses to grams. 1 kg <
220 = 20 nights to read the book. 220 + 20 is the 1.75kg=1750g. 05kg = 5oog,3 10004
same as 22 - 2 = 11, so it takes Maya 11 nights to So heaviest mass is 2000 g, and eéco d
read the whole book. 1575 kg Ond heaviest i
2 B 2: £2.60
There were 2 + 1 + 4 = 7 red cars. S0 /a5 cars were £1.50=150p. £5 =500p.
red. Divide the top and the bottom of the fraction by 7 Seth spends 150 + 30 + 60 = 240p. Sohe ge
to give /. 500 - 240 = 260p = £2.60 change. € gets
3. -+ 3. A
The mean number of biue cars that drove past each day 40% =*%/,00. Divide the Top and the bottom number ~
is the total number of blue cars divided by the number of the fraction by 20 to give %/x, fumber of
days. 6+3+5+4=16. Mean= 16 + 4 = 4 blue cars.
4. 6 hours
~ 4. 540° 336 minutes is 300 minutes + 36 minutes. 1 ho,
£ All of the angles in a regular pentagon are the same. 60 minutes. 300 + 60 = 5, s0 300 minutes = 5 h : e
‘ So the sum of the angles is 108° x5 = 540° (use 36.25 minutes is more than half an hour so 5562; iy

partitioning) minutes rounds up to 6 hours.

5. 4.87 cm
| hds 100 — 70 = 30%. 10% The radius of a circle is half of the diameter
52 SEZHOXS =E7.50 (use 974 =9+ 0.74.

9+2=45. 74+2=37,500.74+2=037.
So the radius of the wheelis 4.5 + 0.37 = 487 cm.

The number of km travelled in 6. 24
is about 8 x 60 = 480. 460 The total number of pencils is 18 x & = 144 (use short
ninutes the rocket travels about multiplication). So if the pack is divided into six groups,
the only close option. there willbe 144 + 6 = 24 pencils in each group
(use short division).

3 7% 70°

5= Acute angles must be less than 90°. The acute angles
¥ below 90 in the table are: 55° which occurs once, 70°

which occurs 3 times and 60° which occurs twice.

So the most common acute angle across the four

shapes is 70°.

8. A

A rhombus, parallelogram, square and rectangle all have
at least one pair of equal angles. The angles in Shape 5
are all different, so Shape 3 must be a trapezium, which
can have all different angles.

9. 142.25 km
Divide the distance the train travels in 3 hours by 3,
fe Pd 225
'26.7'5
*ﬁlﬁe train travelled 142.25 km in one hour.

26

nber is a square number + 1, in descending grder.
108+ 1. 82=92+1. 65=8°+1.50=7"="
So the next number in the sequence will be
1 =26

0 - £12 = £8 profit on each chair that
olls n chairs, P = 8n.




wberries are in Archie's smoothie.
(ijﬁ er + 3, Use partitioning,
d24 120_;_5:-24‘-0,24'3-5:8,
M;120+40+&=489 /50f144‘g= 2 X489
1 D= erving contains 16 g of strawberries.
00 E?GZh‘.ZoQ@+ 16 =12 + 2 = G servings.
o'~

puzzles 10 — page 86

Colin's Cube Ca8€s
5et C

%@ﬁ?&wr code name is W.

fest 26 — pages 87-89
7

e (i:s 16:14 and Ciara's train left 20 minutes ago.
= m’m away 20 minutes from 16:14 in stages.
 away 14 minutes to get 16:00 and then the

6 minutes to get 15:54.

: 50 the diameter 1.3 m x 100 = 130 cm.
}OO should be set to half of the diameter,

D and E have an area of 64 m?. Option
ne length and width as Zone P so must
perimeter. Option A has a perimeter of
2 % 2) = 64 + 4 = 68 m, and Option D has
f4 x 8 =32 m. So only Option D could be
ler perimeter than Zone F,

-7=5+48-7=5%-7 = 46.
xB-7=11x8-7=868-7=61.

i ghapEe has 6 sides, as shown below. So it's a hexagon.

9. E
Each bowl corltainsw/b + D= 1/5 i calls 5 of the packet,
]0. 107

=(1500+90 + 15) 15

=(15oo,15)+(90_15)+(15_15
=100+6+ 1= 107 sultanas in each bowl
IR SRS e

o4

8 3

a

$

Q

=

2°4 8 8 10 12 14
Number of stops
Each small division on the v,
£1 + 4 divisions = £0.25,
Reading off the graph above, if Liz has paid £2 50, she
has paid enough for 7 stops. Jane is travelling through

7+ 3 =10 stops. Reading off the graph, this will cost
£3.25.

12898 £5,75

Substitute 20 for S to give C=0.75+0.25 x 20

RO F 02552 10 075 405 % O =07555
=£5,75,

ertical scale is worth

Test 27 — pages 90-92

1 £4.80

£4.75 = 472p. The multiples of 20 either side of this
are 460 and 480. 473 is closer to 480 than 460, so
it rounds to 480p = £4.80 to the nearest 20p.

2 24

From question 1, Kim will need 480p to pay the bill.
480 +20=48+2 =24, Soshe will need 24 coins,

3. 270°

18:00 = 6:00 pm. The hour hand will have moved from

the 9 to the 6, which is 3 quarter turns clockwise =
Sx90°=270°

4. &

Rounding each amount to the nearest pound makes the
total £1 + (£1 x 2) + (E1 x 3) + £4 = £10. The closest.
answer to this from the options given is C: £9.74.

3. A

1 m=100 cm, so the toweris 1.8 m x 100 = 180 cm

high. If each box had a height of 10 cm, the tower would
be 15 x 10 = 150cm another - ..15
10, f




i 8. £35 ‘

8' 1 0 ) 2 N 4
sisters is 11, then their O divisions of the scale (the tota
If the mean age of the threo three bars) are worth £ 1(006 Sotal

hsigh‘t Of the

lageis 11 x 3=33. Geriis 3 years older, 50 : ‘ 80 eact 2L Of the
K Eobtract this extra 3. 35 - 3 =30. 30+ 3= 10. £100 +20 = £5. Xan's bar has 2 hgp > 5 worgy,
¥ So Eva and Frankie are both 10 (and Geriis 13). soheraised 7 x £5 = £35 aht of 7 4.
- 9. 94500
; The numbers go up in twos, so the house 10 doors down thre \;viN be 5150|x 270 words = 35 , 5
{ inlicati S in 4

‘T8 +{10x2)=n+20. sing long multiplication, 35 x 27 - aar ~ 'Ox1p
} it b ) 945 x 10 x 1O=945oowordz 945, 20 there 5.
| 1 pound = 16 ounces = 16 x 28 g. Round 28 g to 30 g. 10. .23
[ 1E%B0= 4804, Lauren's story will be 8050 + 250 Pages lo

1kg= 1000 g, 50 4860¢g+ 1000 = 0.48 Kg. : 8505 ‘-2335. Using long division: 9€s long =

he only option close to this.

Option A, 0.448 kg is the only op litvers
: - mah he chart is worth 20 homes, 50 —%%5
i Each large square on the chart is wo omes,

mahsnmltguarelsworch20+4=5homes. Thie CLE e R L

means there are 20 + 5 = 25 cottages. 0 0 the story s 23 pages long

There are >*/sp0 = /20 homes which are cottages, which 118

shauild give an angle of 360" + 20 = 18° on a pie chart. Multiplication can be done in any order. s the . 1

! » 20 Lhe cormpet

;'1:2 i option should include either XY = 60 or Yx = gy .
There are currently °%/sop homes which are flats. leaves either B,CorE. X+ ¥=17 thenx. 15 “"}*““
For each option, add the number to the top and bottom which means option Cs correct. :

 of this fraction to seg which simplifies to /4 (25%): 12. 7
ahoes: ih 0f1,oé525’ 2'7- The pairs of whole numbers that mult Iply to give 60
gives a fraction of = /s60= /11: as follows: 1 and 60, 2 and 30, 3 and 20, 4 and 15 =

s a fraction of o 575= {25 and 12,6 and 10. Of these, only 5 and 12 add toor,
¥ , '1/4" toglve 17,80 X must be 5 and Y (the "lerr-‘r‘n‘nm‘-'l!i\l her
0= /18- mustbe 12. 50 Y-X=12-B=7 i

Puzzles 11 — page 96

Pint Sized Problem

For example, to get | pint: Four 5 pints from the & pin
container into the 5 pint: container, and from this ['.“m'
3 pinte Into the 3 pint container. So the containers
flow contain 3 pints, 2 pints and 3 pints. Empty the
contents of the 3 pint container back into the & pin
contalner, and the 2 pints in the 5 pint container into
the now empty 3 pint container (So there are 6 pints,
O pints and 2 pints). Fillup the 5 pint container again
from the & pint container. She now has 1 pint in the
8 pint contalner (and 5 pints in the 5 pint container and
2 pints In the 3 pint. container).

To get half a gallon (4 pints). As above, then, top up the
& pint container from the © pint container (1 pint,

4 pints and 3 pinte). Finally, put the 3 pinto from the
pint container back into the & pint container, so there
e 4 pints In the & pint contalner and 4 pints in the
pin alner — and the 8 pints of lemonade have
exactly into two.

to O, then
296

the nearest hundred, 6o look at the
umn, 1t 4 5, so round up 10

n wide and there are & o
| shelf length required 10
0= 180 cm, 160 cm = B



£1.04 & cost £80, so 1 pair of socks costs
1'00 Pagg Ofggo ;6(;0 Z%p Ribbons cost 7p each and
P | e g

F h pair of socks.
A
e gop;rofsocﬁs. 5 x 2 = 10p, so the total

fgr e:t on each pair of socks is
énéof% 5610 = 104p = £1.04.

2 2552g(')‘mm of rain in August and 10 mm of rain
There wa

in fell in
260 - 10 = 250 mm more rain
in December, 0

Xuguet +han in December. 250 mm = 25 cm.

Gbo mmDof rain fell in July. The total rainfall over the
Z

i i5 200 + 260+ 90 + 30 + 10 +
ree of six months is W ledO
?105 — 600, Sothe ﬁractlon of the total rainfall tha

indulyis “°eco = /3

7. 21 is4: 7,50 to calculate the

A ts todogsis 4: 7/,
The '::'f,f;ocgs, divide the number of cats by 4 and
nufR_’ i & by 7. There are 12 cats at the shelter, so the
;nuumb!;rofdogs i5(12+4)x7=3x7=21dogs.

8. §S5s & ; 5
oint add up to 360°. Angle x covers

A&iﬁ?ﬁffoiﬁgon and there are & sides in total,oso

Zn le x is 2/ of 360°. /g of 3600" =360 + & = 45°,

502/ 0f 360° =3 x 45 = 135°.

g C

5 #3421 0 1257
4|

o £216

%ot £46 =46+ 10=£4.80. 30% =3 x 10%
l% x £4.80 = £14.40. For 15 chairs Asanti paid
£14.40x 15 =(14.40 x 10) + (14.40 x 5)
=144+72=£216.

D).
‘}’gu need to find the option that is a multiple of 3, 6, 7
and 14. 280 = 14 x 20, s0 280 is a multiple of 14
and so also of 7. However, short division shows 280
is not a multiple of 6. 294 is 14 more than 280, so is
also a multiple of 7 and 14. 294 + 6 = 49 (use short
division), 50 294 is also a multiple of 6, and so also of 3.

LA
he number of pupils that take the bus is given by x.

er of pupils that walk is three times the numbe
thagl‘:swhlcbgwes:ﬁmme er o

2 £8.50

1400 one pence coing =

of a sandwich and a coffe
E14-£5B0 « 14

3. B
There are 5 cards |
=84 cards betwe
afactor of 84, 5o

4, 1250 ml
3 litres = BOOO millilitres, 1
3000 =2 = 1500
thereis 1250 ml o

5. D
The two biggest numbers selected by the |
machine are 56 and 37. 56 + 37 e il

; =93, which i
mxélg?e of33(33x1=33 33 X2=66 ;ﬁdlggo:g

T '
€is £550 + £ =e£?g%pm
~5-050=9-050. £850

eftover, so the Players have g9 — 5

en them. Of the options gj
_ ‘ given, only 7
only 7 is a possible Number of plaje?sls

P 1/5 of 3000 m| =
mi, an 00_2502125
f milk left in the container: Oml, so

6. £130 000
The sum of the five hous,
+ 150000 + 75000
So the mean price is 6

75 £174 000

The most expensive house on sale costs £200 000,
&7% of £100000 = £87 000, 50 &7% of £200000
=2x87000=£174000.

8. G

1 minute = 60 seconds, so Henry has been silent for
510x 60 = (51 X ©0) x 100 = 306 x 100 = 30600
seconds.

9. E
Gavin spends '/, + 4= iy
the total time washing the cutl

So the fraction of the total ti
washing up is 12 - 5/12 =7/

12-
10. 36

Eric owns 6 times as man
ratio of Eric's stamps to
Dividing 252 into seven
36, 50 Shona owns 36

ke 8

Divide the carpet into two rectangles. The total area
of the carpetis (3 x 6) + (2 x 15)=18+3=21m2
The carpet costs £15 per m2, so Huw's carpet costs
15x21=£315 (use partitioning).

€ prices is 100000 + 125000
H200000= £650000

50000 + 5 = £130000.

s /12 of
ery and the plates.
me to do the rest of the

Y stamps as Shona, so the
Shona's stamps is 6 : 1.
equal parts gives 252 = 7 =
stamps to Eric's 216 stamps.

2B
Carpet costs £9.99 per m? s0 an area of ca
measuring A m? costs 9.994

104 -0.014 =9.994,
50104 -0.014isth & e



4

& rno girls have the same first name as another girl

Dividing top and bottom by 4 and then by 6 gives /=

5. £21.75

Claudia earns £4.35 for helping with the housework and
Flora earns four times as much as Claudia. 5o the total
amount of pocket money earmed by both giris is £4.35
+ (4 x £4, 5)=5x£435=(5x4)+(5x0.30)+
(5x005)=20+150+025=£2175.

6. 1

i v 1?‘
When tile A is translated 2 squares left and 5
up. there is only one line of symmetry (as shown).

7 A
Themeanscoreis16.sothesumofallﬁvesmis
16x5=80. 80-(16+15+17+ 19)=80-67
=13, s0 Liam's score in the fifth test is 13.

8. 195

There are 28 boxes of books in the stock to
start with, but 2 + 5 + 8 = 15 boxes are taken, so there
are 28 - 15 = 13 boxes left. Each box contains 15
books, so there are 13 x 15 = (10 x 15) + (3 x 15)
-150+45=195booksleﬁ:inthestockoupboud

g 99 4‘15
- Each term is 0.45 greater than the previous term, so

~ the sixth termis 3.25 + 0.45 = 3.7 and the seventh
termis 3.7 + 045 = 4.15,

he area of the top face of the boxis 17 x 22
10%}-»(5&22)*‘(2)( 2)=220+110+44

triangle add up to 180°, 8o the a
E ., ‘ ‘\” X
[ daponcacd

0 Sandy. Neville has x - 4 sweete.
& many as Nevlle, which fs




